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Sol.

Sol.

Sol.

AR WA & 3= 29 % Haer H Fefarad

HYA W e w=

A. s, fafu qon wemfa & g & &
AR STeuEETH a1 TEEETH T B B

B. IE WU qen ofi Al YRR & STCIHER]
1 G TSH HEl 2

C. 3HH 919 & W TG STRIeA w1 HiAfad
& 2

Suded H ¥ Wt wmed ©-

[1] e A 3R C

2] el A ¥R B

3] suge wedt

4] %o B ¥R C

5] STaRd 9w

[2]

Article 29 it & fewet ot STTHT & fag

aient, o, fafts don Wegpfa w1 GRfam s @

ARHR 3 T SC & gER ‘femelt o smumn’ o

ICTHETH A TEHCAH S WD B HAT A

el 2|

e B oft Wl © Fiifer eiffer qen s seusEs

I & foT 7 e B

% C el &l ®, Fith SC 3 oFereen & € T

T T &7 % fou o= e o sud wfufera

K

TR T TR B W R &9 S T

wfufa &t rea8@r w5 @ 7

[1] ot 737 [2] s fergen

[3] sifHa vmE [4] TETS Wifa=

[5] sgafa W

[4]

T AFETER STET &t T &l €37

[1] 10 3TeRR, 1993 &

2] 11 3TeRER, 1993 i

3] 12 3TeRER, 1993 i

4] 13 31&=ER, 1993 &t

5] ST T

[3]

NHRC Act 1993 % §RT 12 3TaRER, 1993 i T

THETRR TN 1 wenfya foman = (S=ia g

STERT (CIC) — T 12 STFE, 2005)
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1.

Sol.

2.

Sol.

Sol.

With reference to Article 29 of the Indian

Constitution, consider the following

statements.

A. Both minority and majority have the right
to protect language, script and culture.

B. It provides protection to both linguistic and
religious minorities.

C. It does not include movements for the
protection of the language.

The correct statement from the above are-

[1] A and C only

[2] A and B only

[3] All of the above

[4] B and C only

[5] Question not attempted

[2]

Article 29 provides the right to protect the

dialect, language, script and culture of any

section of the citizens. According to SC, both

minority and majority are included in 'any

section'. statement A Correct.

Statement B is also correct because there is a

provision for both religious and linguistic

minorities.

Statement C is not correct, because SC has given

a provision that movements for the protection

of the language is also included under it.

Who is chairing the committee formed to

make recommendations on “One Nation One

Election”?

[1] Draupadi Murmu [2] Om Birla

[3] Amit Shah [4] Ramnath Kovind
[5] Question not attempted

[4]

When was the National Human Rights
Commission established?

[1] On 10 October, 1993

[2] On 11 October, 1993

[3] On 12 October, 1993

[4] On 13 October, 1993

[5] Question not attempted

[3]

National Human Rights Commission was
established on October 12, 1993 by NHRC Act
1993. (Central Information Commission (CIC)
— Established 12 October, 2005)
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Sol.

Sol.

Freafafaa wat w famm =-

A. T8 HegqH, TS Y9ET 59 wd § et
ITRT T foRet T = = % qed g8 ®,
Tl uififer fnen w1 emAfa T R

B. T8 WeH i TS g o wiftm © w fam
TEEd < R ® €, T8 Wiese AEN W
i forem =t eAfa 2

C. UH HeoH fSent @ @ g0 @@ T 3 B,
et wififer forean i we wfwefua 2

Suda woAl B ¥ B HUT W B

[1] o A [2] #aa A TS B

[3] 3w st [4] #a@ BWd C

[5] sTFaf

[4]

3T 28 =N Yeh i Sieifuten weemedl o fadg
AT -

o O M e T WE W@-@E TF &l
2 uiffer Fdwr @ we wfefia 2
IThI T feRelt =W % dEd ©l, o'l i
foren =t erqHfa 2

o T N WAl WK HESH Wit YR W
i fram =61 sgafal

o TH UM S 19 gN o wema T R ®
? Wifeo®w YR W it fren w1 srEtd)

frfataa waet W fa=m =-

A. 9RG H HERTE YEel 9 o1 e dRra &
Hey § us etfufrem wia fmem

B. TRUTSl i TAUAT HIA STeT IS Tgell T
ol

Frafafaa o @ v waw -

[1] o A [2] #aa B

[3] AT B3Hl [4] 7@ AT & B

[5] eTgaf@ wd

[4]

ST (SAIhuTel) 1 T Hod Teel Tied
¥ 1905 ¥ g8 °ffl

FUd A T T R, Hbife oeuel & ged o
sAfufr aa HE aTen 99w 19 ST 8, et
TR T T GO FE Al o TR ©
3q: wed B off e 2

Sol.

Sol.

Consider the following statements-

A. Those institutions which are administered by
the state but have been established under any
trust the religious education is not allowed.

B. Ininstitutions which are funded by the state
or receiving financial aid, religious
education is permitted on a voluntary basis.

C. Religious education is completely banned
in institutions which are completely
maintained by the state.

Which of the above statement are correct?

[1] A only [2] A and B only

[3] All of the above [4] B and C only

[5] Question not attempted

[4]

Article 28 differentiates between four types

of educational institutions-

* Such institutions which are completely
maintained by the state-Religious
instruction is strictly prohibited.

* Such institutions, which are administered
by the state but are established under any
trust, allows religious education.

* Permission for religious education on
voluntary basis in institutions recognized
by the state.

* Institutions which are receiving financial
assistance from the state, on voluntary basis
the Regilious education is permitted.

Consider the following statements-

A. Maharashtra was the first state in India to
pass an Act regarding Lokpal.

B. Odisha was the first state to establish a

Lokpal.
Which of the following is/are correct?
[1] A only [2] B only

[3] Both A and B [4] Neither A nor B
[5] Question not attempted

[4]
The office of Ombudsman (Lokpal) was started
in Swedan in 1905.

Statement A this is not correct, because the first
state to pass a bill regarding Lokpal is Odisha,
whereas the first state to establish Lokpal is
Maharashtra, hence statement B is also
incorrect.
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Sol.

Sol.

Sol.

Trrefataa wfaum doiem srafem & @ vl
50% = faarmueet grRT srMifaa & famam
=T Aqr?

[1] 78 wfaum denea

[2] 6191 Efgem Genem

[3] 9741 Efaer Hener

[4] 1015 Hfaem HeieH

o

THh STV TSA & TS I AN Rl YA
FHEAT A1 qA TH Y T & SIHRA H A% WA
fohan = e

61at Hiaem woier

Ig IIEF HAUhR § Faryd of e Hqase i
g 2199 ¥ werRY 18 9 Y I M off, 3§ ot
MY T & STIARA & oK WIiRkd fohan Tl
974t Wiaem wyieq

T HaY e GiHfaal € 2 den 39 Y
BRI STTART W & e,

101af Efaem dones

THHI G GST | B 91 38 oY Todi & TS
% qya WG femen w2

TS W@ ST Rl ik Gilid & fag d@ifta Aew
JeRTEHl YRR, 2018 ¥ wwATHA fewam @

Freafafaa ¥ ¥ feag wefaa 22
[1] TrEdr [2] 3Tt

[3] TEOTECRn [4] STerTrsT
[5] sTafa W

[1]

I WeAehaT STTEART & TS BT HIdehTel fehaT

Frar §7

[1] 5 a4 =1 s@afe/70 ¥ =i 31y

[2] 6 5 =T 37af¥/65 9 &i Y

[3] 4 a9 =T s1afa/65 a9 i 1Y

[4] 3@ =T s1@afy/70 o =i 1Y

[S}Wﬁﬁw

3

s 5 quat G(A/70 I8 Wt Y : ARIA H
HRIHTA|

s 6T i 3ET/65aH aht MY : Faf= =M
% U H HERE

o 4 ¥ Hi FA/65TH I MY : HFA Tashdl
SN & G T HTIHA|

e 336 W EA/70 FW & MG :  TRHA
THAHHR 3TENT & G 1 S|

6.

Sol.

Sol.

Sol.

Which of the following Constitution

Amendment Acts was not approved by 50%

of the state legislatures?

[1] 7th Constitutional Amendment

[2] 61st constitutional amendment

[3] 97th Constitutional Amendment

[4] 101st Constitutional Amendment

[5] Question not attempted

[3]

7th constitutional amendment

Its purpose was to give effect to the plan of

reorganization of the states and it was passed

after the approval of half of the states.

61st constitutional amendment

It was related to adult suffrage, which

decreasing the voting age from 21 to 18, and

was passed after the approval of half of the

states.

97th constitutional amendment

It is related to cooperative societies and it was

not approved by half of the states.

101st constitutional amendment

It is related to GST and has been passed after

the approval of half of the states.

Ghazi Khan Barna honored with Sangeet

Natak Akademi Award, 2018 for folk music.

They are related to which of the following?

[1] Khadtal [2] Pungi

[3] Ravanahatha [4] Algoja

[5] Question not attempted

[1]

What is the tenure of the members of the

Central Vigilance Commission?

[1] 5 years/70 years of age

[2] 6 years/65 years of age

[3] 4 years/65 years of age

[4] 3 years/70 years of age
]
]

—_— e

[5] Question not attempted

[3

* 5 years/70 years of age : This is the tenure

of Lokpal.

* 6 years/65 years of age : This is the tenure
of the members of the Election Commission
& CAG.

* 4 years/65 years of age : This is the tenure
of the members of the Central Vigilance
Commission.

* 3 years/70 years of age : This is the tenure
of the members of the National Human
Rights Commission.
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10.

Sol.

11.

Sol.

T & ifq Feomer ael & dag o fFAfatad

HIA W fa=m -

A. SHHI Th I2gd Ahdleh ol ohi TATIAT LAl
2l

B. ifq fderr ac 32 U= H SecitEd SR
% GHH 2

Suded HAA W W BT HAT W 7
[1] o A [2] ®aa B

[3] A9 BTAl [4] 7 @ A€ B
it

aMYfTeR eidites Tod W oTfele, iR iR

otk famal & fiere a0 meey #1 aRdE

Hfgum & DPSP #i enfefes iR |fses el

1 T G Fefud 21 HUT A Wl 2

DPSP 9Rd TR Afafw, 1935 5 Seaifad sTel

% G g1 HeF B ITHA 7

IoEaH AT T e = i, weeh

YTae™ AR dfaams o fra 391 & dfaas |

forem 32

[1] w9

[2] S T SRR

BERE!

CAREES)

oo

IIqY =T BT IO =g ol et gasme

(TR 143) Tl F1el & GioHH & T fomar @ 2

wfgam @t ST & T ¥ Ffaiaa wemt

w fa=m -

A. TE TR He® gN daR fRu MU S
& W SERd 2

B. 39 wWigw™ & o] eF &t fafy wfier 2

C. 98 9Rd I Th €YY, TuEEl qefrde ok
Tefg o9 = 2

Sy Ul W ¥ fora e wEt 27
[1] ®oct TH [2] et ]

[3] Tl <= [4] =79 & 1§ &
-

o I VORI "EE N 49X fRU T Sew
&S T SHRA B, e A Tl 2

o wHed Bt o €, wifer TEH wfaum @l
fifiepd e 1 fafar 7 (26 TR, 1949), SEfE
[ 26 SHEd, 1950 i g2l

o FHeF CoTHA B, ik T § U wes
e & 2l

9.

Sol.

10.

Sol.

11.

Sol.

Consider the following statements regarding

the Directive Principles of State Policy?

A. One of its objectives is to establish
democratic values.

B. The Directive Principles of State Policy are
similar to the instructions mentioned in the
objective resolution.

Which of the above statement is/are correct?

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

1]

In a modern democratic state, directive

principles are important in economic, social

and political matters. DPSP of the Indian

Constitution also deals with the establishment

of economic and social democracy. Statement

A Correct.

The DPSP are similar to the instructions

mentioned in the Government of India Act 1935.

The provision regarding advisory jurisdiction

of the Supreme Court was taken from the

Constitution of which country?

[1] France

[2] United States of America

[3] Canada

[4] Britain

[5] Question not attempted

[3]

The provision regarding advisory jurisdiction

of the Supreme Court (Article 143) is adopted

from the Constitution of Canada.

Consider the following statements in the

context of the Preamble of the Constitution:

A. It is based on the objective resolution
prepared by Jawaharlal Nehru.

B. It mentions the date of the constitution
coming into force.

C. Itdeclares India to be a sovereign, socialist,
secular and Federal Union.

How many of the above statements are correct?

[1] One only [2] Two only

[3] All of three [4] None of the above

[5] Question not attempted

1]

* It is based on the objective resolution

prepared by Jawaharlal Nehru, statement

A is correct.

* Statement C is incorrect, because the word
union is not mentioned in the Preamble.

* Statement B is also incorrect, as it contains
the date of adoption of the constitution. (26
November, 1949) whereas it came into force
on 26 January, 1950.
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12.

Sol.

13.

Sol.

14.

Trafataa i = gafea &1-
eit-1

YT ARGT AT

Jum arehET § faus & S
YR Y Tk el AN 27
FHEE G STEN H YW T YAl S
gEi-11

TS, HIH

ii. =TEd geligeas

iii. TAW SR

iv. T g4 &g

ONnwp

—-

A B C D A B C D
[1]iv iii i i [2]iii iv i i
[B]iv i1 i iii [4]iv 1 dii i
[5] sTgaRa e
2]

o Wad YR ® WYUH THHET SUEH - AT
TR

o AT URG % YUH e H fauer & Far -
9 g4 &g

o WaJ YA % YUH T ek Hal AT &
ALl - TA.H. HIAH!

o HEI A SN & YW T I G -
ENISIEEIE GG

fra o ¥ S=aan = | 97t foar f

faamrasT ¥ foredt Tor o e agaa 7 faem w

sifam futa vk 2 & ursam | feran wmoEm?

[1] et sieed a” (1992)

[2] Fam o= 9= (2016)

[3] TH.3TR. a9E A= (1994)

[4] fafar efme ag (2013)

i

TE.R. 9 a5 (1994) § SC 7 e foh forelt oft

TSR T hl T FgHT I &l 8 i <9 H

sifqn fofar faufae g0 ook 3= & A@em 9

foman s

frefafaa waet @ faem -

A. 985 fREr off o= = & 99t TR &
e, Ry @R e S W @1 AR 2
Herdl B

B. Hauifier SU=R & iR o ot off ufifeurfy
4 facifea =&l fan s Hehaml

Sued H W MY ®YT GaUE SUSR &

AR & wed U 3 -

[1] = A [2] a1 B

3] A9 BTHl [4] 7 @ A€ B

— —

12.

Sol.

13.

Sol.

14.

Match the following pairs:
List-I

A. First Deputy Speaker of the Lok Sabha.

B. First Leader of Opposition in Lok Sabha.

C. First Chairman of Union Public Service
Commission.

D. First chairman of Central Information
Commission

List-II

i. H.K. Kripalani

ii. Wajahat Habibullah

iii. M.A. Ayyangar

iv. Ram Subhag Singh

A B C D A B C D
[1]iv i 1 i [2]iii iv 1 i
[B]iv i 1 i [4]iv 1 i i
[5] Question not attempted
[2]

First Lok Sabha Deputy Speaker of

Independent India - M.A. Ayyangar

* Leader of the Opposition in the first Lok
Sabha of independent India - Ram Subhag
Singh

* First Union Public Service Commission
Chairman of Independent India - H.K.
Kripalani

* First Chairman of Central Information -
Wajahat Habibullah

In which case did the Supreme Court decide

that if no party gets a clear majority in the

Legislative Assembly, the final floor test

decision will be taken through.

[1] The Kihoto Holoden Case (1992)

[2] Rebia Nabam Case (2016)

[3] S.R. Bommai Case (1994)

[4] The Lily Thomas Case (2013)

[5] Question not attempted

[3]

In the S.R. Bommai case (1994), the SC said that

in case no political party gets a clear majority,

the final decision will be taken by the

legislature through floor test.

Consider the following statements-

A. Parliament can empower any other court to
issue all types of directions, orders and writs.

B. The right to constitutional remedies cannot
be suspended under any circumstances.

Which of the above statements is/are incorrect

with regard to the Right to Constitutional

Remedies?

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted
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Sol.

15.

Sol.

16.

Sol.

17.

[2]

o THT & IE v W 2, T o o =
# off gl vER # Ry, Ry &R fiz W
FH H AURN 2 Tehel 21 TEAT HAT A Fal
2l

o [T AR & SR A% 32 % qed I
Hau e STERI & AU & Yadd i Tefead
fran <1 " 21 weH B HE T 2

‘entf SIgTS’, ‘iR USRS’ TS AR Tl o
frefafiaa § @ fem @a @ dafua 27

[1] <R [2] TH=ROT

[3] g™ [4] =T

[5] eTgaf g7

[4]

TR THEE % HEAE SRR F 21 Hiaa
Ht T & e

Trafataa i = gafea wife-
YR T
A. SEeft (i) e (Srear)
B. fawar (ii) SV ¥
(SRF)
C. R (iii) =TT ( wHierareT)
D. fT=heis (iv) HafEmEe (sfer)
E. &S (v) g&M (M)
A B C D E
[1] iv i v i iii
[2] v iv i i ii
[3]1i iii iv ii v
[4] iv v i i iii
[5] AT 9o
[4] .
Y™ HEATIR
SRR EEEIPE
forArg ElL=IEl
FsHt Ha sRerest
fenctsh Ha Hrast
TS HeRrEstt
Frfataa wiee/aemg &l 3T T & |
afer i
wRsg/armE L2 |
A. HF M8 1 TR i SR
B. STASEM STTWeNE & ii.  TIWRHA
TR
C. Afc e i AR iii. TSR
iv. Toema
v. Tt

Sol.

15.

Sol.

16.

Sol.

[2]

* The Parliament has the power to empower

other courts to issue all types of directions,

orders and writs. Hence the statement A

correct.

* The enforcement of the right to
constitutional remedies under Article 32
can be suspended during a National
Emergency. Statement B is not correct.

'Dharma Jahaj', 'Bhakti Padarath' and Nasket

Leela are the compositions of which of the

following saint?

[1] Laldas [2] Ramcharan

[3] Sundardas [4] Charandas

[5] Question not attempted

[4]

Charandas, the founder of the Charandasi sect,

had composed 21 works.

Match the following pairs-

Sect Main Centre
A. Jasnathi (i) Gadha (Deedwana)
B. Bishnoi (ii) Beneshwar Dham

(Dungarpur)
(iii) Dantada (Bhilwara)
(iv) Katariasar (Bikaner)

C. Niranjani
D. Nishkalank

E. Gudad (v) Mukam (Bikaner)
A B C D E

[1] iv i v ii iii

2] v iv ii i ii

[3]i iii iv ii v

[4] iv v i ii iii

[5] Question not attemped

[4]
Sect Founder
Jasnathi Jasnathji
Bishnoi Jambhoji
Niranjani Sant Haridasji
Nishkalank Saint Maviji
Gudad Santdasji

Match the following Mosques /Dargah with
their locations-

Dargah Location

A. Miran Shah's Dargah . Jalor

B. Alauddin Alamshah's ii. Gagron
Dargah

C. Malik Shah iii.  Ajmer
Mosque

D. Mitheshah's iv.  Tijara
Dargah

E. Duleshah's Dargah v. Pali

Page 7 of 49



Sol.

18.

Sol.

19.

Sol.

20.

Sol.

A B C D E

[1] dii iv i ii
[2] iii i v ii iv
[3] ii v i iii iv
[4] ii iv i iii v
[5] sTafa s
[1]
Frafataa o @ gafaa sifag-
[GICTCn e Tt
A. famm it i. @Emn (Te)
B. ©aen St ii. g (STER)
C. doarg St iii. e STETS
(TAR)
D. 39 @& St iv. o= (fieraren)
v. et (SeR)
A B C D A B C D
[1]v i iv iii [2]i i v i
[3]ii iii iv i [4]v i i i
[5] sTgafa wd
[4]

A= (sferaret) SeAmEe St (sfufa & 2en)

F T WH 2

Frafafaa § | swEa I &l ggene?
[1] siffw=n - YR 9w 494
[2] TEmES - oG g 9
[3] Fuferat - 9 9™ 97
[4] @S - TG o I
[5] sTgafa WA

[4]

Tq arEEEl o a’l % R W et St gt 2
IITEIOT:- T, SR, Jevreeel], &, 93, =,
ferm, gaTaRt ST

‘AT G 9T H IUS AT 16, I SIeT golt TRauT
T g 1 gEH wmgEe T ¥ A 27

[1] <& [2] Trermsit
[3] =ren [4] fren
[5] s1gaia wed

[1]

- ®fd Hedld 7 TA-AE T TE AHE TEah H
T HIE T U9 Hl I d G A R 21
T ‘wgEa’ W qod e 9?1 g dey
M 9 9Ed 9 2

Sol.

18.

Sol.

19.

Sol.

A B C D E

[1] dii iv i ii v
[2] iii i v ii iv
[3] ii v i iii iv
[4] ii iv i iii v
[5] Question not attempted
[1]
Match the following-
Folk Deity Pilgrimage Sites
A. Bigga ji i. Sonana (Pali)
B. Khetla ji ii.Panchota (Jalore)

C. Tallinath ji iii. Nagla Jahaj
(Bharatpur)
iv.Asind (Bhilwara)

v. Reedi (Bikaner)

D. Dev Baba Ji

A B C D A B C D
[1]v i iv i [2]i i v il
[3]ii il iv i [4]v 1 i i
[5] Question not attempted
[4]

Asind (Bhilwara) is the birth place of
Devnarayan ji (The god of medicine).

Identify the incorrect pair out of the follow-
ing-

[1] Bankia - Wind Instrumental

[2] Pakhawaj - Stringed Instruments

[3] Ghuraliya - Percussion Instruments

[4] Ravaj - Stringed Instruments

[5] Question not attempted

[4]

In Tat musical instruments, the notes are pro-

duced by the strings.

Example- Sarangi, Jantar, Ravanahatha, Ravaj,
Tadunra, Chautara, Nishan, Tambura, Ektara,
Bhapang, Kamayacha, Gujari, Surinda,
Chikara, Dukako etc.

20. "Maru thare desh mein upje teen ratan, ek

Sol.

dhola duji marwan teejo kasumal rang" what
is meant by kasumal color in this?

[1]Red [2] Pink
[3]Black [4] Blue
[5] Question not attempted
[1]

Poet Kallol has beautifully described the love
story of Dhola Maru in the book named Dhola-
Maru Ra Duha. In this 'Kasumal' refers to red
colour which is related to Sacrifice and Cour-
age.
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21.

Sol.

22,

Sol.

23.

UETERITT & Ul & dag ° Frafataa saet

T faem =-

A. TER GEEHI, GEEHIT P Fa8 GO ThR
2 S srefereEe & YaT 1 HROT & Fehdl 2

B. ouEhifd W HXEHIG H S HA B W €
Brediten aegell iR Wens i wwd eredi ot
et o 1 qorn § atfues Bt 2l

e H W WEl RYT/RGA RN TAT HL-
[1] ®oat A [2] o B
[3] A 3R B <M [4] 7@ A 3R 7 & B

[5] sgafa W

[1]

o TRERETATH B, GIEHIA 50% T TEF Tehdl
2 forag srefogeren e gad! 2

o TelfuT gEewifa § wETE 10% ¥ SW ugw
Hodl B, 981 30 FrEfh w0 % fou sweniea
HeH IS W Thd

o SETHI H HEEHIM i T THNEER B S
® Trciler oeqetl ok denell &t shiwd oreft oft
st ad T qorn § siferk =it 21

o oruEhifa, gErewifa & fauda 2

oY Tt Sk IR SETa Sl & et ¥ Frefeiea

wHIA W e w=i-

A. o9 foa Sl *1 Lo Afesa @R afafa w
Tawier W &1 T eff

B. T SF dehi § yHIe i fewder frererer 40%
T diftd 2

C. M ol & sAfeehas st da gt @ et
oy fog Sl & fou o @ dm A 2

Sude § | WE AT H T -
[1] A ¥R B [2] B @R C
[3] A @R C [4] A, B 3R C
[5] ergafa we

[2]

A bl 1 Afshad S W 2 o S99 el

2

T (NAMSTE) IieMT & deg # frefatea

HIA W faEmr w-

A. ¥ TSR = iR sfiemiar waeE (MSJE)
HI TH HLF & F1 A R

21.

Sol.

22,

Sol.

23.

Consider the following statements regarding
types of Inflation-

A. Hyper inflation is the most dangerous type
of Inflation which can lead to a collapse of
an economy.

B. In Deflation, the rate of inflation decreases
however the price of goods and services is
still higher than the previous year.

Select the correct statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B
[5]Question not attempted

1]

e In Hyperinflation, the inflation can reach

up to 50% which can lead to a collapse of
an economy.

¢ In Galloping inflation, inflation can reach
above 10%, here unexpected measures can
be taken to control it.

e In Disinflation, the rate of inflation decreases
however the price of goods and services is
still higher than the previous year.

e Deflation is the opposite of Inflation.

Consider the following statements regarding
Small Finance Bank and Payment Banks-

A. The small finance banks were established
on the recommendation of the Nachiket
mor committee.

B. Promoter’s share in both these banks is
currently restricted to 40%.

C. Payment banks have a maximum deposit
limit however there is no such limit for
Small Finance Banks.

Select the correct statements-

[1] A and B [2] Band C
[3] Aand C [4] A,Band C
[5]Question not attempted

[2]

The maximum deposit limit of payment banks
is Rs 2 lakh.

Consider the following statements regarding
NAMSTE Scheme-

A. ltis a Central Sector Scheme of the Ministry
of Social Justice and Empowerment
(MSJE).
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Sol.

24.

Sol.

25.

Sol.

B. TH IS 1 32 w1 4 Hell @ dul Hex
HHERH S 3T T3l i Sehfedsh sqerdml
¥ qaig & fau "geEd I_E H 2

e H ¥ HE HYT H T H-

[1] = A [2] ®aa B

B]Fd A9 B [4] AR Bl

[5] srafe wA

[4]

o TEE WEE HHEr fow R famw
(NSKFDC) 38 a5 & fou swrf<=a Tsidt
2

T uftamfy gt s fafies | gefta

Frafafaa wet w faem wifsg -

A. THH ST AT SAfufEm & dqgd e e 2

B. I &t foxita Heensti wt e aRgmafaat
1 AR HAM

C. 98 Sl @1 NPA geefi goenei & e o
HEId B

T HIT H TAT HlTT-

[1] ®ad A [2] $aa B
[3] =& C [4] ST |eft
[5] STARd e

[4]

o I8 UH HURS 3HE € = foxitg geenst qen
Sehl i SR STEHgE GREUE ¥ e
FE H TeEE Bhfl 98 (Bad Debt) sTeme
F01 i foxiia geene ¥ @l] w SR 9oy
e H WX WA H FEEd YBE w9
AN 2021 H AR fiod o gR omedd
e TR T R

ISt T & deig W FrAfafaa wee W faem

HIfAT-

A. T8 THh SN HU o< B R

B. T Hod H TR SN T Thdl 2

TET HAT/ R T TAT -
[1] #aa A [2] $9a B
[3] A 3R B gt [4] 7 A 3R T & B

[5] sTgaRa W

[3]

€ g1 S9N 1 Tk S0 2 e 7o 9 &g
WHR g U THiHd fwa Sl 21 T8 TR
ot foret STy 781 o Tehell B1 57 T HIE IS °F T
B & it 3% fewmee ¥ W S fRa S R

B. The objective of this scheme is to provide
assistance to the identified manual
scavengers and their dependents for their
rehabilitation in alternative occupations.

Select the correct statements-

[1] A only [2] B only

[3] Neither A nor B [4] Both A and B
[5] Question not attempted

. [4]

e National Safai Karamcharis Finance and
Development Corporation (NSKFDC) is
the implementing agency for this scheme.

Consider the following statements related to

National Asset Reconstruction Company

Limited -

A. It has been formed under the Companies
Act.

B. This company will acquire stressed assets
of financial institutions.

C. This is the roof of banks. Will be helpful in
solving related problems.

Select the correct statement-

[1] A only [2] B only

[3] Conly [4] All of the above

[5] Question not attempted

- [4]

It is a corporate entity that will help in
seprating risky assets of finanacial
institutions and bank. It will help in
keeping the balance sheets of financial
institutions healthy by purchasing bad
loans from them. It has been granted
license by the Reserve Bank of India in
October 2021.

Consider the following statements regarding

Treasury Bill:

A. Itis a zero coupon bond.

B. It can be issued by the Central Government
only.

Select the correct statement/s-

[1] A only [2] B only

[3] Both 1 and 2 [4] Neither A nor B

[5] Question not attempted

. 3]

It is a Money market instrument through
which loans are collected by the central
government. The state government cannot
issue treasury bills. No interest is payable on
these because they are issued at a discount rate.
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26. 3T FIRIESHT Aufad FHfafad & 9 fva 26.  Anil Kakodkar Committee is related to which

Sol.

27.

Sol.

28.

ooﬁ %_
[1] =Aa8 §\eE o oM

AT FTRISHL 1 LT alell Sod WT
&N GEten |iAfd = weedt 2012 H 1ot R <

wfifa =t v ool § snfrer &

o T WE AW H @t cEd wiET (AHagE
3R ArE Wed) & wEE HE

o TR&T el g 2 wREE|

o foUT WHISH 9T % WEeH ¥ TE TSaH
fgmafan gomett 1 wEtaEA|
[ TU FHE G TACEE THR & B

sﬂ?ﬁnmaﬁaa?ﬁ SRTEReRdl, UI9UT 3 R

&% fau don wEwn (duw-vomm ) S &

wayg ¥ FrAfafaa sl o1 faem -

A. &R ¥ 99 2023-24 H 39 A I SO0
H B

B. THH Ie¥F dfcud A B ST IR
TEAER IS & Gferd START hl F@ral <A
% foru Tl @i sgentad wewl @l diedited
HET 2

C. 91 & 9K 9Rd St & T §a9 TSI
IYHRRT B

WET HIT HT AT B

[1] A iR B [2] B &k C
[3] A @R C [4] A, B 3R C
[5] Tgafa o

[4]

Frfafea wae o faem -

A. A AT ASHI-TEE IR AT
e (SeaE-THIETA) Th s WS e
2 THE 399 SR faeE & Wem g e
T 1 S T B

B. fova % @ik SueE-wguewy 3 sufia o
Hfgens it qriei ser & forg wwehar f&h 2

TE HIT/HIA HT AT T

[1] ®aa A [2] e B

[3] A 3R B <At [4] T d A R A& B

[5] sgaRa WA

Sol.

27.

Sol.

28.

of the following-

[1] MSP calculation

[2] Railway Safety

[3] Gender equality in Parliament

[4] Simplifying GST

[5] Question not attempted

[2]

e High-Level Safety Review Committee
constituted by the Ministry of Railways
and headed by the eminent scientist Dr.
Anil Kakodkar gave its report in Feb 2012.

Major recommendations of the Committee

include:

¢ Elimination of all Level Crossings (manned
and unmanned) in the next five years.

¢ Maintenance of safety-related infrastructure.

¢ Implementation of an Advance Signalling
System through Special Purpose Vehicle.

e All new coaches will be of safer LHB type.

Consider the following statements regarding

the PM Programme for Restoration,

Awareness, Nourishment, and Amelioration

of Mother Earth (PM-PRANAM) Scheme-

A. The government has announced this
scheme in Budget 2023-24.

B. The objective is to incentivize the States
and UTs to promote the usage of
alternative fertilizers and balanced use of
chemical fertilizers.

C. India is the second largest consumer of
fertilizer after China.

Select the correct statements-

[1] Aand B [2] Band C
[3] Aand C [4] A,Band C
[5] Question not attempted

[4]

Consider the following statements-

A. Deendayal Antyodaya Yojana-National
Urban Livelihood Mission (DAY-NULM)
is a centrally sponsored scheme aimed at
upliftment of the urban poor through skill
development.

B. World Bank and DAY-NULM entered into
a collaborative partnership to increase
women’s participation in entrepreneurship.

Select the correct statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted
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Sol.

29.

Sol.

30.

Sol.

31.

Sol.

32.

[1]

o TE T fomm FwEHT (FEEE) @R dnear
FENTT ASHI-TET Ted SATiiaent  faem
(STUaE-TTuATH) I U wesia w2

o O UERN w1 3 SUfha & 849 § Oe-gHees
FHfER fowes g1 & fau afeensti =t word
EEIEI

G I o 9T hTS’ ST feh® o6 WS ot

T efi?

[1] 2019 [2] 2020
[3] 2021 [4] 2022
[5] s1gaia wed

[1]

o HIfFS-19 HEM & THI W& & HRI
TS faqor gomell & ST=id ANTRERl ohi
3 H WH ST FEH F 39T g9 A%H
I WH FHIE IS IR i TR

W7 - SIS eruTe ¥ gfg & wium g "

%’_

A. TSREE we H gfg g

B. 39 &% Ha gas H glg gM

TE RAT/HA T TIT -

[1] &= A [2] ®aa B

[3] A ¥R B [4] STk & ¥ HE T
[5] ergafa W

[3]

o HU-SISH UM HESTh T a1 SISl
% TEA U i U 21 9 U | If5 9
Fa gal ¥ ghg et St R TSt wae o
gfs & HRU e 2

Y SeeT oA Rl IO 1T 8-

[1] &R

[2] wHi-RTETTH T

[3] fefem

[4] H-hftsrEm

[5] sgafa W

[2]

qH-FHETEE = 250 - 280 fafeam ad g&

el w1 i e = W-ehfisEEl

Frafafaa g w1 e -

TeIfgat L e
A. Ffye i. STAR
B. &HHAY ii. e
C. TSz iii. ot

iv. SR

Sol.

Sol.

Sol.

31.

Sol.

32.

1]

e UN Development Program (UNDP) and
Deendayal Antyodaya Yojana-National
Urban Livelihood Mission (DAY-NULM)
a collaborative partnership.

e The partnership aimed at empowering
women to make well-informed career
choices in the field of entrepreneurship

‘One Nation One Ration Card’ scheme started

in which year ?

[1] 2019 [2] 2020

[3] 2021 [4] 2022

[5] Question not attempted

[1]

¢ One Nation One Ration Card Scheme was

started with the aim of providing ration
to the citizens in the country under the
public distribution system due to
migration during the Covid-19 pandemic.

An increase in the debt-GDP ratio could

result in-

A. Fiscal deficit will increase.

B. The total liabilities of the country will
increase.

Select the correct statement/s-

[1] A only [2] B only

[3] A and B [4] None of these

[5] Question not attempted

3]

e The debt-GDP ratio shows the ratio
between public debt and GDP. An increase
in this ratio will increase the total liability
which leads to increase in fiscal deficit.

Formation period of Baap Boulder clay is-

[1] Carboniferous

[2] Permo-Carboniferous

[3] Cretaceous

[4] Pre-Cambrian

[5] Question not attempted

[2]

Permo-Carboniferous = 250 - 280 million years

ago)

Formation period of Aravalli = Pre-Cambrian.

Match the following

Hills Location
A. Rishikesh i. Udaipur
B. Kamalnath ii. Sikar
C. Rojabhakar iii. Sirohi
D. Raghunathgarh iv. Jalor
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Sol.

33.

Sol.

34.

Sol.

Code:

AB CD A B CD
[1]i iv i i [2]1 i i iv
[B]iii i iv ii [4]iv i i i
[5] SR e
[3]

rer fau T wee & feT wem (A) T HROT (R)

EY

I (A) : TR 1 i anffes ot 67.5 9 @

Safeh WA i S e gt 125 S )

FROT (R) : WEet Ifao-uftem AmgA gens &
TR feerd 2l

wEt faemea A

[1] A 3R R T+ @Et & 3R R, A &1 =& Gl
HYT B

[2] A 3R R S ®&t € @ifeh R, A %1 W&t =are
& e 2

[3] A Tl € 3R R @l @

[4] A W€t & wefw R 7o @

.
TSR 1 3fHa aifties ouf 57.5 ¥t 2l
Frafafaa gt w1 faem =1-

e Afeat e Afeat
A. T i WA
B. I ™ ii. AR
C. ot iii. ShTCAITEY
D. &t iv. Seret
®IT:

A B CD A B C D
[1]i i i iv [2]ii i iv i
[3]ii iv il i [4] i1 i iv i
ey
Frafafaa & @ fora gm wEt gafea 272
A. ¥ - ufyadt T
B. #Efifga - ==
C. grft Rl
D. T+ - I
&

[1] ®oct TH [2] et ]
[3] aat = [4] Swdaa |t
[5] ergafa we

[1]

HETIH Rl
o M - THIA
o HIATEA - T
o T -9

Sol.

33.

Sol.

34.

Sol.

35.

Sol.

Code:

A B C D A B C D
[1]i iv i i [2]1 il i v
[B]iii 1 iv i [4] iv i 1 i
[5] Question not attempted
3]

There is Assertion (A) and Reason (R) for the
question given below :

Assertion (A) : Average annual rainfall of
Rajasthan is 67.5 cm where as average annual
rainfall of India is 125 cm.

Reason (R) : Aravalli is located paralled to the
South-West monsoon winds.

Choose the correct option

[1] A and R both are correct and R is the correct

explanation of A.

[2] A and R both are correct but R is not the

correct explanation of A.

[3] A is incorrect and R is correct

[4] A is correct and R is incorrect

[5] Question not attempted

3]

Average annual rainfall of Rajasthan is 57.5 cm.
Match the following
Tributaries
Chambal i.
Banas ii.
Luni
Mahi

Rivers
Moren
Morel
Kalisindh
iv. Jojari

ii.

A B C
[1]i iii i iv [2]iid i iv i
[3]ii iv il i [4]iid i iv i
[5] Question not attempted

[4]

How many of these pairs
matched ?

A. Seep
B. Kalisil
C. Sagi -
D. Gambhiri
Codes :
[1] Only one [2] Only Two
[3] Only Three [4] All of the above
[5] Question not attempted
[1]

Tributary

are correctly

West Banas
Chambal

Luni

Yamuna

River
- Chambal
- Banas

* Seep
* KaliSil

e  Gambbhiri - Berach
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36.

Sol.

37.

Sol.

38.

Sol.

39.

A. T IO ) e 1 -1 91y wel s 36. A.

2l

B. TN 9d19 HIR sy & 14 fowe et et T
2l

C. wor fow et a1 el o feor 21

SUde W ¥ T ®wAT -

[1] P A [2] ®ael B @R C

3] %act A 3R D [4] %o A 3R B

i

SR MR- il diY i orael & fh-279 a9y

ETl Il
Fe 9 ¥ 14 TR T8 et ©

T & HiY faunita arifetor & SEr el o
figt frefafea & @ ffm §9/der &9 ¥ o
STt 27
[1] o st 2] W& ==
[3] Here 1 WM [4] B
e
/8 gt
o T AR - -3 S fHed
o T F A - A e figt
. T - Tem TeY el gt
Frafataa i w1 faems &1
LGRS as
A. HS (i) 3TSTER
B. TIRIES (ii) I
C. fafae @ (iii) qETaTST
D. HTHIR (iv) Wiet w1
&<
AB C D A B C D
[M]i i iii iv [2]ii  iv il i
[Bliii iv ii i [4]iv dii i i
[5] ergafa we
[3]
@t a
. TEREe/ - YRR (! H )
TAIR
- fafaem @ - g1 (areifea), SEQ
o Hrfs - SiFaTel (Sfear!, HrTge,
qATEN)
o FaICH, fafm, $oUUR, THEe - TSR
Frafafaa gt &1 faem &
A fra
A. IS i. ==a- 65, FMYU-65
B. 7= ii. E-H.M.-4, HM.-8

Sol.

Sol.

38.

Sol.

39.

B.

C.

Kota Barrage is called the pick-up dam of
chambeal.

14 lift canals have been extracted from Rana
Pratap Sagar dam.

Kachari lift canal is located in Baran district.

Choose the incorrect statements :

[1] A only
[3] A and D only

[2] B and C only
[4] A and B only

[5] Question not attempted

[4]

Jawahar Sagar- Kota dam is called the pick-up
dam of Chambal.

14lift canals have been extracted from Kota Barrage.
According to the agriculture department
classification of the state, Yellow brown soil
is found in which of the following areas/
plains?

[1] Luni basin
[3] Mewar plain

[2] Mahi plains
[4] Hadoti

[5] Question not attempted

[3]

Soil
- Gray brown alluvial soil

Basin/area
Luni basin
Mahi plains - Red loamy soil

* Hadoti - Medium deep black soil
Match the following :

Minerals Area
A. Manganese (i) Ajmer
B. Fluorite (ii) Bundi
C. Silica sand (iii) Talwara
D. Feldspar (iv) Mando ki Pal
Code:

A B C D A B C D
[1]i i i iv [2]ii v i i
[3]iii iv i i [4]iv il i il
[5 Questlon not attempted

[3

Minerals  Areas
Fluorite/ - Dungarpur (Mando ki Pal)
Fluorspar

Silica sand - Bundi (Barodia), Jaipur

Manganese - Banswara (Leelvani,
Kalakhunta, Talwara)

Quartz, lithium, feldspar, graphite - Ajmer.

Match the following :

A.

B.

Crops Varieties
Bajra i. Chambal - 65, Durgapura-
65

Sugarcane ii. Pusa-H.M.-4, HM. -8
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Sol.

40.

Sol.

41.

Sol.

42,

Sol.

43.

C. TR iii. RHB - 30, RCB - 911
D. & iv. CO-449, CO-1111
e

AB CD A B C D
[1]i iv i il [2] i v i i
[B]li i iii iv [4]iv i i iii
[5] srgafa we
[2]

A. TH SR % A | ToRAH el T W R

B. & U= 37 IRA 1 15.05% o™ 9
g 2l

C. SR Te aTgi forel | S gafar wonfuq =t
T

Suded H A W wA -

[1] o A [2] #a= B
[3] %a@ Ba C [4] A,Ba C
[5] eTgaf@ wd

[2]

Y SR § ISR JUH T W 2l
S AN - PR ST WH (S |
TR TG G&Id: o™ & o et a&
Hifa 872

[1] SRR, sTHaTEl, STTR

[2] fadieTe, YarwTe, TSEEs

[3] HaE wiEigR, el St
[4]3%361?[3118@1@

[5] st g

[1]

Frefefaa § @ sF-T gafea 7@ 272
Sl AT YehTT LCEREOIE]

A. & el - 3 WFR

B. &M el - TaE

C. ™ el - arﬁq’?m

D. 9R S

mﬁwﬁﬁwﬁw@

[1] %@ AT C [2] A,Ba D

[3] %o B [4] % C

[5] eTgaf@ wd

[3]

TR el % HAT TEHA (o TMR), et
(2F®), T (), =1f@n (fde), FmfeEn
(BTAMTR), oo (FER) o feom )
= foet @ o 9 2011 &0 SOET &
AR 75% | Aferer AT 8-

[1] 5o, 91 [2] FFT, S

[3] hlaT, it [4] SR, STeTeaR

[5] srgafa we

Sol.

40.

Sol.

Sol.

42,

Sol.

43.

C. Maize iii. RHB - 30, RCB - 911

D. Wheat iv. CO-449, CO-1111
Code:

A B C D A B C D
[1]i iv 1 did [2]iii Qv i1 i
[3]1 i1 il iv [4]iv i1 1 il
[5] Question not attempted
[2]

A. Rajasthan ranks 3rd in terms of milk
production.
B. 15.05% of the total national milk

production, is from Rajasthan.

C. Camel dairies have been established in
Bikaner and Barmer districts.

Choose the correct statement/s:

[1] A only [2] B only

[3] B and C only [4] A, Band C

[5] Question not attempted

[2]

Rajasthan ranks 1st in milk production.
Camel Dairies - Bikaner and Pokaran (Jaisalmer).

Damor tribe is mainly confined to which
districts in Rajasthan?

[1] Dungarpur, Banswara, Udaipur

[2] Chittorgarh, Pratapgarh, Rajsamand
[3] Sawai Madhopur, Karauli, Bundi

[4] Kota, Baran, Jhalawar

[5] Question not attempted

1]

Which of the following are mismatched ?

Type of Energy Plant Location

A. Wind energy - Amar sagar
B. Biomass energy - Devgarh
C. Thermal energy - Barsinghsar
D. Solar energy - Poogal

Choose the incorrect options :
[1] A and C only [2] A, Band D

[3] B only [4] C only
[5] Question not attempted
3]

Plants of biomass energy are located at
Padampur (Sri Ganganagar), Khatoli (Tonk),
Rangpur (Kota), Chanderia (Chittor), Sangaria
(Hanumangarh), Kachela-Bagsari (Sanchore).
According to Popultation census 2011, select
the districts which have more than 75%
literacy-

[1] Jaipur, Jhunjhunu [2] Kota, Jaipur

[3] Kota, Sikar [4] Jaipur, Alwar

[5] Question not attempted
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Sol.

44,

Sol.

45.

Sol.

46.

Sol.

47.

[2]

TSI i THT FIaRal R - 66.1%
Haiferer FeRdr X 9 oot

o HIA - 76.6%

o AR - 755%

o I - 741%

o X - 71.9%

IAAH e SHEET It el i St w e
[1] STE, FA@E  [2] SR, AR
[3] SRE, SHRR ~ [4] TATTTG, TR
[5] sTgaRa T

[3]

AqH Vet SHEE are fee-

A. TSR § SC 1 fATa 948 21

B. TS W ST i Wedl ¥ SFEEA SR § 2

C. T9EIE H ST &l SH6& §d SHE9e &
17.8% R

Syde ¥ ¥ wEt fawew -

[1] ®%aa1 A9 B [2] A,Ba C
[3] %@ Ba C [4] %o B
[5] sTafa 7

[4]

TSR H SC i SHEEA g SHe &1 17.8%
K
TSRAE H ST i U |al Sae &l 13.5%

2

TRy § i St 1 femga 948 B
oy ¥ rqgfad i i fefmaa 923 2
forerfefam ot & fret

JVIARTT LI}
A, s i. =
B. ofaR! w1 el ii. Herg
C. = iii. fexiteg
D. W iv. ITAR
%<

AB CD A B C D
i i i iv [2]ii  iv i i
[B]iii iv i i [4]iv i i i
[5] ergafa s
[3]

XA YW e fof qer o & Ty ot uelt 3 faar
W W@ {1 XN Y -G ¥l |t €7

Sol.

44.

Sol.

45.

Sol.

46.

Sol.

47.

[2]

Overall literacy rate of Rajasthan - 66.1%
Districts with highest literacy rate :

* Kota-76.6%

* Jaipur - 75.5%

* Jhunjhunu - 74.1%

* Sikar-71.9%

Select the pair of districts having minimum
urban population -

[1] Dungarpur, Jhalawar [2] Jaisalmer, Barmer
[3] Dungarpur, Jaisalmer

[4] Pratapgarh, Udaipur

[5] Question not attempted

[3]

Districts having minimum urban population.

* Pratapgarh ¢ Dungarpur
e Jaisalmer * Banswara
A. Sex ratio of SC in Rajasthan is 948.

B. Lowest population of ST in Rajasthan is in
Bikaner.

Population of ST in Rajasthan is 17.8% of
total population.

Choose the correct statement/s-

[1] A and B only [2] A,Band C

[3] B and C only [4] B only

[5] Question not attempted

[4]

Population of SC in rajasthan is 17.8% of total
population.

Population of ST in Rajasthan is 13.5% of total
population.

Sex ratio of ST in Rajasthan is 948.

Sex ratio of SC in Rajasthan is 923.

Match the following :

C.

Sanctuary Location
A. Bassi i. Kota
B. Phulwari ki Naal ii. Dholpur
C. Darrah iii. Chittorgarh
D. Kesar Bagh iv. Udaipur
Code

A B C D A B C D
[1]i i iii iv [2]ii  iv i il

[B]iii iv 1 i [4] iv
[5] Question not attempted
[3]

X said to Y that your mother's father-in-law's
wife is mother-in-law of my father. How are
X and Y related?

[1] X is sister's husband of Y

i i i
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21X, Y % fuar =i «ed 1 =1 2|
3]Y, X & forar & @ ?1

2] X is child of Y's father's sister
3] Y is father's brother of X

[

[
4]Y, X 1 5= & ufq 2 [4] Y is sister's husband of X
5] TgAf g [

[
[
[
[ 5] Question not attempted

X, Y % fuar 1 og7 &1 o= 2l
48. Trafafaa smepfa o feray Brqw & 2

Xis child of Y's father's sister.
48. How many triangles in given figure?

=

N\

[1] 28 [2] 33
[3] 31 [4] 30
[5] Question not attempted
Sol. [2]
|
%

N

49. Tt wiahfoes W # 'BEAT' &t 'GIDV' feran 49. If 'BEAT'is coded as 'GIDV' then how would

AT €, A I Aichfaer WIHT H 'SOUP' &l il you code 'SOUP' in that code language?
fergr sm? [1] XSYS [2] YSXR
[1] XSYS [2] YSXR [3] XSXR [4] XSXT
[3] XSXR [4] XSXT [5] Question not attempted
[5]eTafa g Sol. [3]
Sol.[3] BEAT = GIDV
BEAT = GIDV +5 | 'T‘T
+5| iy T A +4l
+A.| +3+
+3
+
SOUP =
SOUP =

+5| |

+4 |
+3

—> X
—>wn

+2
50. B2D, E3H, 14M, ?

50. B2D, E3H, I4M, ?

[1] N5R [2] N5T [1] N5R [2] N5T
[3] Q5L [4] N5S [3] Q5L [4] N5S
[5] eafd we [5] Question not attempted
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Sol. [4]
1 +1 " Sol. [4]
[+3 | oo 14 M | ] U H
1 ,H +4'ﬂ 'H+5 'T‘l 1\ 2D E3H ‘1’
5. A = 2w c ) [+3 | N+ %41\%
. + 1 +5
— 3 AT T 1 B I A S AT 51 A e 1
| Cud D fota Rt d A wR D, travel towards East. B travels to
AFY Tl R aEr wear $) fefaRa ¢ North. C and D travel in o e W.ards
Tfyea ' ¥ - D travel pposite directions
Y T o els towards right of A. Which of the
(11 B C ot fremedt # e et # 1115 anctC travel n ampost
[2] C uf¥=m &l 3T A H 2 [2] C travels ii::irlcrllso\/%pots ite directions
Eﬂ D 1 e o ¢ ﬂ D travels towards N(e,:th
BUd CHAH faen # amn i ¥ 4] B and C travel in th
es irect]
[5] Wﬁa T % [5] Question not attemot ame dll‘ectlon
Sol. 4] Sol. 4] pred
ol. .
Sk North
A A
A’ — |B ID
BJID|C I3 ——o| I ‘Icf C Wes East
?{f%'TUT South
52. HAA: . 52. Statement: "] . _
e %m & > # g faar w1 A ser days in Euro fyc.)u. desire to enjoy the best holi-
, A TR o bt 7 e & age". A - exclusive EURO pack-
FHER 79 | Th o A ge". An advertisement of a travel agency i
\"‘ Py W a})- _8'1'{[ ﬁsﬂ'q:“ aAr;SIndla]: neWspaper. g nCy mn
« LS umptions:
I 9gd ¥ 9RdE gt faam g I. Many Indi
R SAN IR y Indians travel to Eu .
1L 9Rd ¥ TH doe uSif=eat e 9 to spend their holidays. ropean countries
7Y & A H 1L Th y
SR A B ) wh?rﬁ are other travel agencies in India
1. 5gd § =Aferq o ich organize holiday-tours ¢
TR T QL TR T R III. Many people may still o Europe.
) g through other tra }i d travel to Europe
ve :
[1]=+h fAfea 2l [1] All are implicit ed agencies.
[2]faw 1 @en 11 fafea 21 [2] Only I and II are implicit
[3]fa® 1 fifeq 21 EH 811%}' I is implicit
[4]f9® T @en 11 Fifa 2 [5]Q3ezﬁl and LT are implicit
Sol Em o ol [ o Btempted
ot 53. Statemen
. t: Should sale of vi
53. . . e of vital h
AT T ARG ATH B S0 H O Hw be made legal in India? al human organs
T H A =IfeT? A Arguments:
. . 1. ; .
% L 7, 9% T wen @ R 3 i ﬁz ltthgoes against our culture.
- < ° 7 1 i
ii.l qj%’ RERSEEIS ﬁﬁE’H a'ﬁ ErEE a']'ﬁl III. Yes th?s‘xlllllls]ii;(; unhgalthy practjces'
. B, I8 : L nend to thei
ﬁgr ¥ OMg M & aed ﬁ'{—Eh‘ITﬁ ing of human organs. o theillegal trad-
- ;‘q'( Pl AT FE T TEFF B [1] None is strong
[3} e ;i %%l [2] e 18R 11 3 21 %} 811?7 iland |, are strong
I | [4 nly III is strong
(5]t e | sheret 11 3R 111 31 21 {g gnly Il and III are strong
Sol. [1 uestion not att
1] Sol. [1] attempted
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54, HY: TIUTRT ® g U= oW Hed I T ¢ fF  54. Statement: It is feared by the experts that there
FHANR G H a9E W W H Ik A0 § H may be deficient rainfall in many parts of the

s country due to weak monsoon.
o Courses of action:
FratEt: I. The Government should immediately set
I 9WhR I ool w1 ok TH S A ey up a committee of experts to study the
N2y & A= art § 99f 1 STeRe i amount of rainfall in various parts of the
FISR . country.
1L T ¥ T A T S II. The szernment should make arrange-
Kl el SRR FA e ments for providing relief supplies to the
ILYAEa 9 & fFEE 1 98 "ae 3 =1fee areas affected due to poor monsoon.
fF =% %9l gemﬁ F AT HY 9 Gl III. The farmers in the affected areas should be
wEaE ® geE F advised to switch over to crops requiring

less water during the kharif season.
[1] Only I follows

[2] Only II follows

[1] Heel [ TR0 HL 2

[2] saet 1T STTEROT il 21

]
]
[3] et I ST &R0 a2
]
[5]

[4] et 11 3R I STER0 & & [3] Only III follows
ARG T [4] Only II and III follow
Sol. [2] [5] Question not attempted
55. & TS MR W, fRaw T & o= &, S wwe Sol. [2]
& &7 55. In the given figure, how many cardboard

boxes are not white?

Cardboard =,
. 12/6\4 & Box/fe=a Cardboardm
. T Box/fes
7 9 ws < White/m#7 e Al
0 X Je-white/

[1]6 [2] 13

[3] 7 [4] 9 [1] 6 [2] 13

[5] R v [317 [4] 9
Sol. [1] [5] Question not attempted

S T % fes HE &l & Ih! WA w1 Haew 54 Sol. [1]

T R e Y2 W wed e Y - 6 The number of cardboard boxes which are not

white mean the number of cardboards which

56. ag‘aﬁ'@gﬁqshﬁ%ﬁq.mwﬁ%ﬁa% are only boxes = 6.

Heier w1 W l TEUUT HIAT §- 56. Identify the diagram the best represents the

A, A, AHTERT relationship among the given classes-

[1] [2]

Bull, Animal, Carnivorous
OO

51| | |00 ®| wloo

3]

[5] Question not attempted
Sol. [4]

aa—i@_wm —@@_:ﬂw@
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57. afder |Hiem 2022-23 &% HeW ® fwAfaf@a 57.

Sol.

58.

Sol.

59.

Sol.

A W e wifa-

A. TIEIE &% 9% qod gashis 1 STER o
1999-2000 &1

B. 9RA offih oA Fadich &1 SMER I8 1999-
2000 1

C. WPILH 75 wiafiss argaeti, 69 fafafia 3=
g, 10 99 v, Y™ TS SUHEH i
wftnfea fran s 21

Sude H ¥ U YT -

1] A [2] B, C
3] A, C [4] A, B, C
[5] eTgeRa W

[3]

qRA H ook Yoo Yehich w1 SMER o8 2011-12 1

frafafaa o | /@@ wow &l TgTE Fiftwu-

[1] ad 2020-21 & TS <9 H SN, W,
qiveh TS, el fieled, TR & SR | g™
M W @

[2] USEAM & YUEk H e w oW ‘UHS
fham-geET T R

[3] geadst e w@EerEd A had dF et
i, fiearer 9o ST H Hefed 2

[4] e Y = e g e fasm st
fasm 21

[5] ergafe we

[3]

Td 2018-19 & EAH &S TWawa Al ! T3

% T 10 HfY Soerg wvel | fraftaa fear st

@ R

YR T ST ((UTHOT) & o s

wHIA & &l 27

[1] 3§ ASH T Y& 20 TR, 2016 i AH
g WA 5w R 2

[2] 3T ASHRTT eeqef & =& 61 MR A,
afefer wel wfa enerfa SEeoET 2011 B

[3] 3= diom B fog oo % fou s 9 T
WHR & &= 50:50 % A9 § TG/ 2t
2

[4] TR 5N 36 AT Tk reedt =61 Hew@a
Tf¥ 1,20,000 T, T vir=rerE fmior &g 12000
%, & eAfafte i 2 2

[5] ergafe we

[3]

= U HK G T D TH 60:40 F AI H

Sol.

58.

Sol.

59.

Sol.

With reference to the Economic Survey 2022-

23, consider the following statements-

A. The base year of Rajasthan's Wholesale
Price Index is 1999-2000.

B. The base year of Wholesale Price Index of
India is 1999-2000.

C. WPI covers 75 primary articles, 69
manufactured product groups, 10 fuel
power, Electricity and sub-lubricants.

The correct statement from the above is-

[1] A [2] B, C
3] A, C [4] A, B, C
[5] Question not attempted

[3]

The base year of Wholesale Price Index in India

is 2011-12.

Identify the incorrect statement-

[1] In the year 2020-21, Rajasthan ranked first
in the production of Pear] millet, Mustard,
Nutriti- Cereals, total Oilseeds, Guar in the
country.

[2] The theme of the separate agriculture
budget of Rajasthan is “Prosperous
Farmers - Happy Rajasthan”.

[3] Mukhyamantri Beej Swavalamban Yojana
is operational only in three districts Kota,
Bhilwara and Udaipur.

[4] The nodal department for the Pradhan
Mantri Krishi Sinchai Yojana is the
Horticulture Department.

[5] Question not attempted

[3]

From the year 2018-19, Mukhyamantri Beej

Swavalamban Yojana is being implemented in

all the 10 Agro-climatic Zones of the state.

Which statement is not correct about Pradhan

Mantri Awas Yojana (Gramin)?

[1] This scheme has been launched by the
Ministry of Rural Development on
November 20, 2016.

[2] The basis of selection of beneficiary under
this scheme is the Socio, Economic and
Caste census 2011.

[3] The funding for this scheme is shared in
the ratio of 50:50 between the Central and
State Governments.

[4] Under this scheme, the government is
providing Rs 1,20,000 as assistance to each
beneficiary and an additional amount of Rs
12,000 for the construction of toilets.

[5] Question not attempted

[3]

The expenditure amount is borne by the Center

and the State in the ratio of 60:40.

T8T HT S B
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60.

Sol.

61.

Sol.

62.

Sol.

frafafaa wot w fa=m wifs-

A. fodfm a9 2021-22 # TsweA w1 ®o@ @
71999.72 g . B2 2|

B. ToeyH ¥ il g+ awelt o o agget o
IR TEEfE T G SeeieHE

C. ToreH ¥ frafd e areft 37 oY oie aeget
w1 T % ffd @ 100 i@ dRE 2

D. fafa =t sgm@r 3 & fauw 29 JarE 2021 1
TEIE TR gW faed fEfde e uRe
foram T

Sl ¥ ¥ o weUd ¥
[1] A [2] B
(3 C [4] D
[5] srgaR we

[3]

* 3 Ui axgel o AFEE TF & i § 60
yfged @ @ifues 2

anfdfer wHtem 2022-23 % FER R el &

fawm & wWad ¥ fefafea wat w© fa=m

HITSTT-

A. TSI | 30 FaR, 2022 q Afussifya e
&7 23487 HETe 21

B. weel (SH¥qR) H 2245 BMGE(e &f9al 1 HieRk
IR IR =l | feRtad e T R

C. TSRYM H, 969 Tg \&iona Sl Jaed,
XA TR & 3fihed & R 142 Timere
IR ST wofd 1 S S 2

D. -eEad G S At 2020 § SR W 2

Suded W ¥ A HIAT B-

(1] A [2] B

3] C [4] D

e

eliam "R S HAifd - 2019

TR TR AT & o) o fAfafea ® 9

BT HAT A &

[1] 39 FISHT T =90 o€ 2015-16 § T TE|

[2] sE&t YETd 18 fEgmr, 2019 § &t I

[3] 5 @e1, 2022 1 TSRAM § SHIER HE H
T w1 whftd e fen T R

[4] SFTR @ foeta waEeE 3t Afee qemerRienon
i agmEn fhen 2

[5] sgaRa WA

[1]

TSI S STUR A T SHon geie 2019-20 % Sol.

H T

60.

Sol.

61.

Sol.

62.

Consider the following statements-

A. In the financial year 2021-22, the total
export of Rajasthan has been Rs.71999.72
crore.

B. The top five items exported from Rajasthan
are Engineering goods, Textiles, Metals,
Handicrafts and Chemicals and allied.

C. These top five items exported from
Rajasthan account for 100 percent of the
state's exports.

D. To promote exports, Mission Niryatak
Bano was started by the Government of
Rajasthan on 29 July 2021.

Which of the above statements are incorrect-

(1] A [2] B

[3] C [4] D

[5] Question not attempted

[3]

*  The contribution of the top five commodities
in the state's exports is more than 60 percent.

According to the Economic Review 2022-23,

consider the following statements regarding

the development of solar energy-

A. The installed energy capacity in Rajasthan
till November 30, 2022 is 23487 MW.

B. Solar Park of 2245 MW capacity has been
developed in Bhadla (Jodhpur) in four
phases.

C. According to the assessment by the
Ministry of New and Renewable Energy,
Government of India, Rajasthan has a Solar
Potential of 142 GW.

D. The latest solar energy policy has been
released in 2020.

Which of the above statement is incorrect?

1] A [2] B

[3] C [4] D

[5] Question not attempted

[4]

Latest Solar Energy Policy - 2019

Which of the following statements is incorrect

about the Rajasthan Janadhar Yojana?

[1] The scheme was announced in the budget
2015-16.

[2] It was launched on December 18, 2019.

[3] On April 5, 2022, Janadhar card has been
declared as ration card in Rajasthan.

[4] Janadhar has given a boost to financial
inclusion and women empowerment.

[5] Question not attempted

[1]

Rajasthan Jan Aadhaar Yojana was announced

in the budget 2019-20.
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63. e fods fivm & aR ® AT ®UT WA 63.

Sol.

64.

Sol.

65.

Sol.

66.

Sol.

.

[1] 9Ra TR R 54, 2015 ¥ @R o faem
& fwar m=m

[2] =9 faem =1 3E¥A 59 &t Tty H 100 wE
% @ feds o gifea e 21

[3] 39 ST=HIG ToRA & 4 el SO, STAR,
e T SO F THE wfEferd R m R

[4] YRG TR R Y& I & e gfqad 100
FUE T EHE & &Y F KU s

[5] eTgaf@ e

[3]

e 9 fvm & ofrld ToeaE & IR el

AR, I, HIS ° U h WA Ha T B

T WA WIYAAT hIehH & aR § hIET oA

3T &7

A. I8 FEFHA IRG HER gR 1 3, 2022 9
KIDQERIRE

B. ¥E 1594 § Afysh o1y ot & =afadai i @er
TN 1 SATIA B

[1] et A [2] %= B

[3] % A R B [4] FE &l

[5] sTgafa W

[4]

AW g fohE oiste 9T § et festea
[T ST T ST hi-

[1] 2020-21 [2] 2021-22

[3] 2022-23 [4] 2023-24

[5] ergafe wed

[3]

Tyt fesiiea dar A st=ia wfgen gie=n &t
T o H FeTe FAfGRES & WY TR WA
foafta frn s

TERAT it I TRERETE TR Sacui=
¥ grr o ifia 27

A. TSR TR & faww wreEiwe

B. TSEAM AeAH TR faam afErsen

C. U™ T5d Tomr e afrsmn

D. SR H

e -

[1] ®aa A9 B [2] @ Ca D
[3] %o A, Ba C  [4] W= weft
[5] eTgaf@ e

[4]

Sol.

64.

Sol.
65.

Sol.

66.

Code -

Sol.

Which statement is incorrect about SMART

Cities mission?

[1] The Smart Cities Mission was launched by
the Government of India in June 2015.

[2] The objective of this mission is to include
100 cities in smart cities in a period of 5 years.

[3] Under this, 4 cities of Rajasthan- Jaipur,
Udaipur, Kota and Jodhpur have been
included.

[4] 100 crore rupees will be given as grant
every year for each city by the Government
of India.

[5] Question not attempted

[3]

Under this, four cities of Rajasthan, Jaipur,

Udaipur, Kota and Ajmer have been included.

Which statement about the New India

Literacy Program is incorrect?

A. This program was implemented by the
Government of India from April 1, 2022.

B. Itis a campaign to make people above 15
years of age literate.

[1] A only [2] B only

[3] A and B only [4] None

[5] Question not attempted

[4]

In which budget speech did the Chief

Minister announce the Chief Minister's

Digital Service Scheme?

[1] 2020-21 [2] 2021-22

[3] 2022-23 [4] 2023-24

[5] Question not attempted

[3]

Under this, smart phones with three years of

internet connectivity will be distributed to

women heads of households.

Which projects of Rajasthan are funded by

Asian Development Bank?

A. Rajasthan Urban Area Development
Program

B. Rajasthan Secondary Town Development
Sector Project

C. Rajasthan State Highway Investment
Programme

D. Jaipur Metro

[1] Only A and B [2] Only C and D

[3] Only A,Band C  [4] All of the above

[5] Question not attempted

[4]
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67.

Sol.

68.

Sol.

69.

Sol.

TrAfataa g« gufea wiee-
A, T TR e i. 1970
B. USRI G AUSH ii. 1961
C. TSTEiHt iii. 1955
D. Tsiifaert iv. 2010

A B C D A B C D
[1]i i i iv [2]ii i i iv
[3]iii i v il [4]ii i i iv
[5] TgaRa Fe

[2]

3T A T IS & 4TI 3R et Ut & |/
rfaftem e 3s ferul wia ST 1ot WIS &t
HA Aol WIS Wt HEd 9 O ot T30S
e A urer Ten foR A T & WIS W GEn
AU H wEer & M ot 3Ed faer W 50 wieer
H TR B T g 3N U Hel 7S & WS
H T T A 7S & WIS i W& ¥ ST
AT ShiTa?

1]1:4 [2]4:1
[3]1:2 [4]2:1
[5] STafd g

1]

T fafsu 3o i J9s & n 9 e fu
T A HS b T WiE w1 e B, x 8

ql, Hel TSl HT G ST Dl HIFd = & 2
orEdfaeh fad =& (4x2x + nx) = . (8x + nx)
ZeES W TR T O = (2nx + 4x)

so2nx + 4x = (8x + nx) <1 150% —>2nx + 4x =
3
2
= 2 (2nx +4x) =3 (8x + nx)
=4nx + 8x =24x + 3nx =>nx=16x =>n =16

(8x + nx)

31 e oTud =4:16=1:4

Teh MIATRR W @t faumd 4 /et sgm w43
& U W E ST 4TieT WA W 2: 1
U U FIa ¥ wW i famd Fm wifsw)

[1] 12 . 5 8 L. [2] 3. g 1.5 H.
[3] 20 Ht. & 16 . [4] 18 . & 9 .
[5] sgafa e

[1]
WWQﬁmﬁ@ﬁTﬁﬁ?ﬂﬁmzxﬁ?{aﬂ'{y
e 2l

67.

Sol.

68.

Sol.

69.

Sol.

Match the following-
A. Khadi Village Industries Board i. 1970

B. Rajasthan Housing Board ii. 1961
C. RajSICO iii. 1955
D. Rajeevika iv.2010

A B C D A B C D

1] i i 2]ii i i
[3] i i [4]di i i
[5] Question not attempted

[2]

Ajay ordered 4 pairs of black socks and some
additional pairs of blue socks. The price per
pair of black socks was twice the price of blue
socks. When the order was received, it was
found that the numbers of the of both pairs
colours had been interchanged. Due to this
the bill increased by 50 percent. Find the ratio
of the number of pairs of black socks to the
number of pairs of blue socks in the original
order?

[1]11:4 [2]14:1

[3]1:2 [4]2:1

[5] Question not attempted

[1]

Suppose he ordered n pairs of blue socks.
Let the price of each pair of blue socks be Rs.
is x.

So, cost of each pair of black socks = Rs. 2x
Actual bill = Rs(4x2x + nx) = Rs.(8x + nx)

Bill made after interchange = Rs.(2nx + 4x)
so2nx + 4x =150% of (8x + nx) = 2nx + 4x =

iv iv

iv il iv

L
2(x nx)

= 2(2nx + 4x) = 3(8x + nx)

=4nx + 8x =24x +3nx =>nx=16x =n=16
Hence, required ratio=4:16=1:4

The dimensions of a rectangular room when
increased by 4 m are in the ratio 4 : 3 and
when decreased by 4 m are in the ratio 2 : 1.
Find the dimensions of the room.

[1]12 m and 8 m [2]3mand 1.5 m

[3] 20 m and 16 m [4] 18 m and 9 m

[5] Question not attempted

[1]

Let the length and breadth of the room be x
meters and y meters respectively.
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x+4 4

T, y+4:§33x+12=4y+16

(i) 1 3 TN FH R () H ¥ TeH R 7
x:y=8§lT‘?T%ﬁﬂT%l

(i) §y=8%H W eH x =12 W< el 2|
d: HH i fomd A9 12 . 3k 8 #t. B

x+4 4
Then, ﬁ:§33x+12:4y+16
=3x -4y =4 (@)
And, X=4 _2 __y_a-2y-38
y—4 1
X -2y = -4, (if)

Multiplying (ii) by 3 and subtracting from (i),
we getx:y = 8.

Putting y = 8 in (i) we get x =12.

Hence, the dimensions of the room are 12 m.
and 8 m. respectively.

70. If the present amount becomes Rs. 800 in two
70. FAUM LFATRT @ 98T W &, 800 3 T aut o years and Rs. 920 in three years, then what is
. 920 r WA T, A adET T $7 the present amount?
[3] & 560 [4] =79 @ ®IE &l [3] Rs. 560 [4] None of these
[5] AR e [5] Question not attempted
Sol. [3] Sol. [3]
199 o foft FERY = = 920 - 800 = &. 120 Simple interest for 1 year = 920 - 800 = Rs. 120
29 & fAu yme &= =2 x 120 = %. 240 Simple interest for 2 years = 2 x 120 = Rs. 240
- gAE =800 -240 = €. 560 Principal = 800 -240 = Rs.560
71. The compound interest on Rs. 20,480 at the
1
71. ®. 20,4 6—-"%gfa = =it 294 7 1
¥ 080w 4 i R 3 rate of 6Z%per annum for 2 years and 73
et m bl %_ days is-
[1] ®. 2929 [2] ¥. 3000 [1] Rs. 2929 [2] Rs. 3000
[3] & 3131 [4] ¥ 3636 [3] Rs. 3131 [4] Rs. 3636
[5] srgafa T [5] Question not attempted
Sol. [1] Sol. [1]
73 1 73 1
HAg = 2% a =zg_°mt Time=2% years= 27 years
- gt = - Amount =
(125 s vl i %45
25 5 4 20480><(1+—j 1+24
20480x| 1+ I+=—
17 17 8l
17 17 81 = 20480><—><—><—J:
Compound interest = Rs. (23409 - 20480) =
. TRl oA = ®. (23409 - 20480) = &. 2929 Rs.2929
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72. Ueh HETE T &t ofd: frown ik ufiffear @1 72. What is the ratio of inradius and

Sol.

73.

Sol.

74.

Sol.

3T T &7

[1]1:2 [2]1:3

[3]1:4 [4]3:2

[5] srgafa e

1]

¥ 98 WA €

Wﬁﬂﬁaﬁm:ﬁﬁﬂ=%
el

W@ﬁrﬂaaﬁvﬁﬁm=$

T SHerg S w1 9ST = a 3EE
-, ¥q: e ok s 1 et

a a _

—2\/5'\/5 1:2

6 iiaarsil 31T 3 fareheamimir |fga 20 faenfeal @
11 faenfeal =t U fomehe 0 st 81 Sk 4
TSl 3R 2 fasheawimr arelt Tk 3 591 &
TRl wr @ B

[1] 20790 [2] 6930
[3] 10790 [4] 13690
[5] STafd g

[1]
aEvsh ! w1 we = °C, < C, x'! C,
=15 x 3 x 462 = 20790

i ek T Ty 8T A E R W w2
Tt (Head) 219 @t Wiferehar ==mm 27

[1]1/4 [2]11/2
[3]11/3 [4] 1/8
[5] STafd g

[2]

T8l S = [TTT, TTH, THT, HTT, THH, HTH,
HHT, HHH] = 8

o E=%" ¥ &7 T o9 3™ &I o =
[THH, HTH, HHT, HHH] = 4
nE _4_1

1= 1) 8 2

Sol.

73.

Sol.

74.

Sol.

circumradius of an equilateral triangle?
[1]1:2 [2]1:3

[3]1:4 [4] 3:2

[5] Question not attempted

[1]
We know this

Arm
Inradius of equilateral triangle=ﬁ

Arm
Circumradius of equilateral triangle = T

Let side of equilateral triangle = a unit
Ratio of incircle and circumradius of triangle

a a _
= 2\/5 \/5 1:2
A cricket team of 11 players is to be made
from 20 players including 6 bowlers and 3
wicket keepers. The number of ways of
forming a team exactly consisting of 4
bowlers and 2 wicketkeepers are-

[1] 20790 [2] 6930

[3] 10790 [4] 13690

[5] Question not attempted

1]

Number of ways required = °C, x* C, x'' C,

=15 x 3 x 462 = 20790
Three Coins are tossed simultaneously. What
is the probability of getting at least 2 heads?

[1]11/4 [2]11/2
[3]11/3 [4]11/8
[5] Question not attempted
[2]

Here S = [TTT, TTH, THT, HTT, THH, HTH,
HHT, HHH] =8

Let E = Event of getting at least two heads =
[THH, HTH, HHT, HHH] = 4

nd® _4_1

“n@G) 8 2
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75. Treifera e ¥ 9o 6 99 ® quet 1299 75.

Sol.

76.

Sol.

77.

qH Th A & Mhe aelt gg® | o
et RIS GE & fe@mr = g

130
115
105
95
70
I 45
6-7 7-8 8.9

9-10 10-11 1-12
o @ W

HIE 699 U Gog 89S & o<l oA arelt TRt
W HEAT HT, GG 9T H 119 & sl o

@1 oY AT

arch T a T & S fa 7
[117:4 [2] 21:19
3] 14 : 23 [4]5:6
[5] sTgaf e
[4]
704105 175
S S = 11505 210 06

ferehe it w20 & faenfega 3 fe @ s=m:
57,17, 26, 91, 115, 26, 83, 41, 57, 0, 26

Teh! WITSHeRT AT@ ahitag)

[1] 57 2] 41
[3] 26 [4] 83
[5] egafa wA

[2]

TEAST il ANE HH H WH W
0,17, 26, 26, 26,41, 57, 57, 83,91, 115
&l n=11

n+l1
3Td: AR M=T ot gE
11+1
5 o 9= =69 gEm

o1d: wifedesR M =413
ferehe @t U dim & faenfeat 3 fe @ s
57,17, 26,91, 115, 26, 83, 41, 57, 0, 26

TR SIEETeh ATd ShitT|

[1] 26 2] 51
[3] 41 [4] 17
[5] gafa o

Sol.

76.

Sol.

77.

The following histogram shows the number
of cars passing through a road near a colony

from 6 am to 12 noon.
130
115
105
95

| I I

I AE
6-7 7-8 3-9 9-10 10-11 11-12

&1 @1 |9y

EaEukiicenl

What is the ratio of the number of cars
passing between 6 am to 8 am to the number
of cars passing between 9 am to 11 am?

[1]17:4 [2] 21:19
[3] 14:23 [4]15:6

[5] Question not attempted

[4]

70+105 175
115+95 210
The players of a Cricket team scored follow-
ing runs 57, 17, 26, 91, 115, 26, 83, 41, 57, 0, 26.
Find the Median?

[1] 57 [2] 41

[3] 26 [4] 83

[5] Question not attempted

[2]

The Ascending order of Runs-

0,17, 26, 26, 26, 41, 57,57, 83, 91, 115

Here, n=11

Required ratio = 5:6

n+
Hence median M = ——th term,

2
11+1
2
Hence, M = 41 Run

The players of a Cricket team scored
following runs 57, 17, 26, 91, 115, 26, 83, 41, 57,
0, 26.

th = 6th term,

Find the Mode?
[1] 26 [2] 51
[3] 41 [4] 17

[5] Question not attempted
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Sol.

78.

Sol.

79.

Sol.

80.

[1]

T} W ARERa 3 SAfushad 21 36 Ta foar 1 "e

26

B o1: 9EAH =26

WA | feord TRl & Had § WEt 9" &l @A

Fi-

A. fafet 3 Y weifgd sei-me 18R W
forg 21

B. 35 UOR &R ¥ IV ¢ 3R s9 g
ufeem | o *T 3R R

[1] o A [2] ®aa B

[3] %o A IR B [4] FE &l

[5] sgafa e

[3]

freafafaa ¥ @ sve Sfgat «t 9@ o[ :
=t Heg afer

A. @R - TgFR! Ay

B. e - SIS @R STy

C. Hemt - ERke Sy

D. = - AT 9ty

[1] =1 <ig [2] T SitE

[B] 5 ¥ #%E T [4] TF ST

[5] sgafa e

[1]

W : U S (YRR YA GRS )

A

o gRgEl a1 (MET AR See)

o TN Y

WA : FORS R Y AR 4 T

FO : STEHE St SR AN TR a

fafi woel & weu o frefafaa e w

fa=m =

A. Ufv=9g S | TH 99 § 9Ed Sl 3 BEA qw
gt & foe ofi|, 319 SR 9 e S R

B. %M F T AT T &7 & 10% § FH T
| S 2

C. FE o FAeF F A T T @
TE T

e ¥ W TAd wYT/RAT R TIT Bl -
[1] %o« B [2] ®a@ A

[3] ®aa C [4] =79 @ ®IE =&l
[5] srgafa we

Sol.

78.

Sol.

79.

Sol.

80.

[1]
Here, 3 is the max frequency hence Mode is 26
run.

Choose the correct statement related to
Plateau of India-

A. Mikir and Rengma hills are located on
karbi-anglong plateau

B. Deccan platean is triangular in shape with
slope from West to East.

[1] A only [2] B only

[3] Both A and B [4] None

[5] Question not attempted

3]

Select the number of mismatched pair/s:
Associated Dam
Idukki Dam
Nagarjuna Sagar Dam
Hirakund Dam
Nangal Dam

River
Periyar -
Cauvery -
Mahanadi

[1] Two pairs

[3] None of these
[5] Question not attempted

1]

Beas : Pong Dam (Maharana Pratap Sagar
reservoir)

Sutlej
* Bhakra Dam (Govind Sagar reservoir)

[2] Three pairs
[4] One pair

* Nagal Dam

Kaveri : Krishnaraja Sagar Dam and Shri
Rangapatnam.

Krishna : Alamtti Dam and Nagarjuna Sagar
Dam.

Consider the following statements regarding
various crops-

A. In West Bengal, 3 crops of Rice are obtained

in a year called Aus, Aman and Boro.

B. Cotton is sown on less than 10% of the total
national sown area.

C. Coffee cultivation started from Bada Budan
hills of Karnatka.

Select the incorrect statement/s-

[1] B only [2] A only

[3] C only [4] None of these
[5] Question not attempted
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Sol.

81.

Sol.

82.

Sol.

83.

[4]

HUY F T AT T & F 7% T I S 2
Fe HI Sered & HWed W Frfafeaa e
W A U W afe w

[1] siifesn > e > TR > AL T¥

[2] stifeen > HeRE > e > HeA W

[3] A&F TR > HEWE > fifewn > wHieh

[4] 7Em W_¥ > Sfewn > WERR > Fleh

[5] ergafa s

[3]

o TH W - 33%

* WY — 25%

o affesm — 19%
Frafataa g w1 e -

L8] U et
A. eiffafaa i, X g HeR Ik
B. 3THR¥ER ii. oHd R e
C. aet iii. e
D. YoiRhg iv. T
e

A B C D A B C D
[1]iv i i i [2]ii i1 i iv
[B]iv i i iii [4]ii 1 iv i
[5] sTgafa wd
[3]

o Sifyenfaa (Femea) - L

o TTFhRS (WHIA) - AREH

o SRR (A Wo¥1) - TFarfen dier 9 (fawa
EUREEICE)

o el (AHTg) - oA TR e

AT Tl o o) W 3w/ /R hl

Bifew-

A. THA (ITAR) TR FH I@ATRA ARK
et fag 2

B. dced ¥ 11 %9 &1 7, 819§ A1 HUS]
9 : B% ol wiuet & wWed i €

C. I % 1 Ty s 9 9 off em
T&T TARY 9 e T Hi Afedl & wed o
firet 21

[1] o A [2] #aa A9 B
[3] ®a B [4] %@ Ba C
[5] sTgaf e

Sol.

81.

Sol.

82.

Sol.

83.

[4]

Cotton is sown on 7% of the total national sown

area.

Arrange the following states in terms of total

Manganese are production

[1] Odisha > Karnataka > Maharastra >
Madhya Pradesh

[2] Odisha > Maharastra > Karnataka >
Madhya Pradesh

[3] Madhya Pradesh > Maharastra > Odisha >
Karnataka

[4] Madhya Pradesh > Odisha > Maharastra >
Karnataka

[5] Question not attempted

3]

* Madhya Pradesh — 33%

* Maharastra —» 25%

* Odisha - 19%

Match the following
Place Associated with

A. Domiasiat i. Floating solar park

B. Omkareshwar ii. Thermal power plant

C. Neyveli iii. Thorium

D

. Pallakad iv. Uranium
Code

A B C D A B C D
[1]iv i il ii [2]ii 1 i iv
[B]iv i i1 iii [4]ii 1 iv i

Question not attempted

* Domiasiat (Meghalaya) - Uranium

* Pallakad (Kerala) - Thorium

* Omkareshwar (Madhya Pradesh) - Floating
solar park (World's largest)

* Neyveli (Tamil Nadu) - Thermal Power
plant

Selectthe incorrect statement/statements

about Balathal civilization-

A. The excavator of Balathal (Udaipur)
civilization is Virendra Nath Mishra.

B. Evidence of 11-room house, hand-made
cloth and skull with six holes has been
founded from Balathal.

C. Balathal center was also related to the
Harappan civilization. Evidence of tube
wells and iron smelting furnaces has also
been founded here.

[1] A only [2] A and B only

[3] B only [4] B and C only

[5] Question not attempted
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Sol.

84.

Sol.

85.

Sol.

86.

Sol.

[3]

B: B dICl WIS & Ted R qIA Y
B € foe@ ed Afesh %1 gor =1 e faferen
F SFHN e 2

AAREN Factsi & Ol ATHRATT & T
TR & T SmmEent & favaraama & wror
AT ! UNTSTE SRl |THAT ST UST?

[1] fmfeg 3 dfds

[2] TeamifdE 9 qufEe

[3] ToHe g e

[4] 397 @ 9 9 @i

g e

T 1301 % # STAREH 7 9 Wy fowr Hifd
% qed WA T A e few ersey &
[T YA THG @, 3G T, A9 ©i 9 TR &
e fmfde, gwfde 3§ 9 foen e 9 o 3
TR o favarema feam 1301 % # ek o
kT B 3N BEHR ! Ul TR 7 S T
STHR G A AT TR Teed-3a-6q8 H BREl
qr ¥ 3H el 1 v fRar B

‘sfrsToTTer Wi’ W erRrent et §2

[1] sTrertt g

[2] swTerdt Tt

[3] swrert e

[4] sTTercit TxEardt

[5] ergaft w=T

[4]

TR e TS 9 A ST TS SRARE (R,
TAYRY) § TR HUSIHRY AHE Hhd ALl
w1 Fefor wamEn, 9 dsEnen o e S R
FHIAR | Topl 4 9 TSI Hi drg @ der =
‘e Hiel Hiees! H wsel e

Frefafaa et i 3T HTe FATTER Faredd
Hifg?

A. FHEHA B. Td Uikl

C. @fds D. ®uifdg

[11C D, A B [2] B,A,D,C

[3] A, B,C,D [4] A, B,D,C

[5] srgaf we

2
Qﬁaawﬁwaﬁwﬁw@@gaﬁ@ﬁaﬁ%l
TE UK - 1505 - 26 5.

T HAHA - 1542 - 74 %,
ot fog - 1631-69%.

Sol.

84.

Sol.

85.

Sol.

86.

Sol.

[3]

Evidence of skulls with six holes has been
obtained from the Kalibanga civilization,
which gives us information about surgery of
the brain.

Due to the betray of which generals of
Hammir, he had to face defeat during
Alauddin Khilji’s attack on Ranthambore?
[1] Bhimsingh and Dharamsingh

[2] Kalyan Singh & Bhupsingh

[3] Ranmal and Rattipal

[4] Ulugh Khan and Alap Khan

[5] Question not attempted

[3]

In 1301 AD, Alauddin attacked Ranthambore
as part of his empire expansion policy, the
commonder Nusrat Khan along with Ulugh
Khan and Alap Khan fought with Bhimsingh,
Dharamsingh under the leadership of
Hammir. Rattipal and Ranmal betrayed
Hammir. In 1301 Saka happened in Ranthmbor
and Hammir’s wife Rangadevi did Jauhar.
Amir Khusro has described this Jauhar in
Persian language in his book Khazain-ul-
Futuh.

The presiding deity of ‘Bhojshala temple’ is?
[1] Bhagwati Durga

[2] Bhagwati Parvati

[3] Bhagwati Lakshmi

[4] Bhagwati Saraswati

[5] Question not attempted

[4]

Parmar dynasty king Bhoj built a Sanskrit
school named 'Saraswati Kanthabharan' in his
capital Dharanagari (Dhar, Madhya Pradesh),
which is also known as Bhojshala. Later, the
Turks demolished this school and converted
it into 'Kamal Maula Masjid'.

Arrange the following rulers in chronological
order?

A. Kalyanmal
C. Ratan Singh
[11C, D, A, B [2] B,A, D, C

[3] A, B,C, D [4] A, B,D,C

[5] Question not attempted

[2]

All the rulers mentioned above belong to the
Rathore dynasty of Bikaner.

Rao Lunkaran - 1505 - 26 AD.

Rao Kalyanmal - 1542 - 74 AD.

Karan Singh - 1631 - 69 AD.

Ratansingh - 1828 - 51 AD.

B. Rao Lunkaran
D. Karan Singh

s - 1828 -51%.
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87. WA TSI H T & Y@ wvnmare 87

Sol.

88.

Sol.

89.

iRt & Waig W Fa W ¥

[1] =eeft- Temwsf

[2] @ SERf- O 9 fohell &1 @d Heerdr qen
W@ w1 fege & e

[3] HR-Teft- HeifaR T HIER L ael AR

[4] fereRgR- TN % R, sTee @t S Herer
el leiiean

[5] sTgafa W

[4]

forreR:- TR wemEs & SRR "eew aren

SAfeeRTd |

A -T-AECNT- S-S ' ATHe: WIS &l TS
fore famem ® gam?

[1] <& Ramea [2] =R fEmEa
[3] SEAR fEmEd [4] 3TeTeR TEmd
[5] srgafa s

[4]

- U9 fREE =ied ® SNE
i. STHEA-T-qEeT-3a -3
i, SAYT-T- EfH-3a-3&™
- WS A Ha fREH eAiSen w1 wwHed R
Te frdm ofRleM & Y@ Ad1 - A @,
Hiew s feft, Torg wiieh Toe IR 9 Hiews el
g
Frafafaa gof = gafaa wifg-
e
A. TARare oo g
B. TRATE Hal T
C. FafeaehIRoul |
D. TR g=IReft |«
9 T WLATIH
i) 1920 3.—SEAREY =9
ii) 1907 E.-TaTHt TUTelRTE 9 H=a1 Al €8
iii) 1934 3.- SaTen yOR SR 9 s
iv) 1918 E.-<i<Her gaom
(v) 1920 3. —SaTen Yo g & o J9R
e
A B C D
[1]iv i i iii

A~ o~~~ o~

A B C D
2] iv i v i
[3]1 i il iv

[5] eTgafa wes

4] iii i v i

. [M4]

In medieval Rajasthan, the mismatched pair
with respect to the chief administrative
officer of the state is

[1] Bakshi - Defense Minister

[2] Naib Bakshi - Used to handle the expenses
of the army and forts and calculate the
maintenance.

[3] Mir-munshi - Diplomatic correspondence
officer

[4] Shikdar - King's hunter, officer in charge
of hunting

[5] Question not attempted

. [4]

Shikdar:- The officer in charge of city
administration.

In which princely state, an organization
named 'Jamiat-e-Tablig-ul-Islam' was formed
during the peasant movement?

[1] Tonk State [2] Ajmer State

[3] Udaipur State [4] Alwar State

[5] Question not attempted

During the Mev Peasant's movement

i. Jamiat-e-Tablig-ul-Islam

ii. Named Anjuman-e-Khadim-ul-Islam

was formed.

- Organizations supported the Mev Peasant's
movement-“The main leaders of Mev
Peasant's movement were Yasin Khan,
Mohammad Ali, Syed Bhik Singh Narang
and Mohammad Hadi.

Match the following pairs?

Organization

A. Marwar Hitkarini Sabha

B. Marwar Seva Sangh

C. Sarvahitkarini Sabha

D. Nagri Pracharini Sabha
Year and founder

(i) 1920 AD.-Jayanarayan Vyas

(if) 1907 AD.-Swami Gopaldas and Kanhaiya
Lal Dhundh

(iii) 1934AD - Jwala Prasad Jigyasu and Indulal

(iv) 1918 AD-Chandmal Surana

(v) 1920 AD-Jwala Prasad Jigyasu and Yamuna
Prasad

Code:

A B C D

[1]iv i ii  iid

[B]i i iii iv

A B C D
[2] iv i v i
[4] @i i v i
[5] Question not attempted
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Sol.

90.

Sol.

91.

Sol.

92.

Sol.

1]

e 1910% ¥ T YHE 9 Saren yOR Ry &
BN TR GUIROT |1 i TG hi|

e 1936%. H Saren yHR SR 9 WD weiterd
%GR AR JSTHISA i T T TR

AR ¥ ST 99 9 @eel WUSK Wi TTOT

f&mm =2

[1] SEARE0T =19 [2] sTereR= foem
[3] H @ SR [4] @R e
i

- SR fae s - i@ (FR)

- AR §- wRE W9 o ©EEl G i T i

- 1997 1942%. &l YR S ¥ 9@ TEAA &
AWM TR TG B T oA

- 3R USRI 1 SR’ el S

frafafaa & @ fHE og=e ¥ Twue &

ST 9T T Sooid 87

[1] TT=% 159 [2] 3TT=% 163
[3] 3TT=8% 158 [4] 3T9=8% 161
[5] egafa wA

[4]

* Es] 159 - TSI I
* TES] 163 - TSI i HEHdl T |l 7

BIERITU
* ] 158 - WU & U8 & faw o
Trefafea sifea @ fuem &=
T
A. ¥o= ®AR i B. I@Wfde
C. siWys™ ¥ D. Hquig
AT
() N o d@Ed (i) Sl T
(iil) HETeTa gaErtea
(iv) Rrer=ror #e
e
A B C D A B C D
1] (i) (1) (v) (i) [2] (1) (@) (D) (iv)
[3] (i) (i) (iii) (iv) [4] () (iv) (i) (i)
{5} FIARA 9o
1
Rtpic) ) TATA TEEaAt
1962 - 67 HYuTg TiEAae gantean
1982-85 STHAYHRTI INEETURIE
EELY
1998 TEREE S e
2007-09 IS /AR 3T TTEald
fHe

Sol.

90.

Sol.

91.

Sol.

92.

Sol.

[1]

¢ In1910, Aachar Sudharini Sabha was estab-
lished by Yamuna Prasad and Jwala Prasad
Jigyasu.

* In 1936, Dholpur Prajamandal was estab-
lished by Jwala Prasad Jigyasu and
Krishnadutt Paliwal.

Who established Charkha Sangh and

Khaddar Bhandar in Nagaur?

[1] Jayanarayan Vyas

[2] Balmukund Bissa

[3] Narottam Lal Joshi

[4] Pyarelal Gupta

[5] Question not attempted

[2]
- Balmukund Bissa -Born - Pilwa (Nagaur)
- Established Charkha Sangh and Khaddar
Sangh in Nagaur.
- He died on 19 June 1942 during a hunger
strike in Jodhpur jail.
- Heis called 'Jatindas of Rajasthan'.
Which of the following article mentions the
pardoning power of Governor?
[1] Article 159 [2] Article 163
[3] Article 158 [4] Article 161
[5] Question not attempted
[4]
*  Article 159 - Governor's oath.
*  Article 163 - Council of Ministers to aid and
advise the Governor
*  Article 158 - Conditions for the office of
Governor
Match the following pairs-
Governor
A. Shilendra Kumar Singh B. Darbara Singh
C. Omprakash Mehra
D. Sampoornanand
Chief Minister
(i) Bhoriron Singh Shekhawat
(if) Ashok Gehlot
(iii) Mohan Lal Sukhadia
(iv) Shivcharan Mathur
Code
A B C D A B C D
(1] (i) () @v) (i) [2] (@) (i) (i) (iv)
[3] (i) (i) (iii) (iv) [4] () (iv) (i) (iii)

[5] Question not attempted

[1]
Term Governor C. M.
1962-67 Sampurna Nand Mohanlal
Sukhadia
1982-85 Omprakash Shivcharan
Mehra Mathur
1998 Darbarasingh Bhairo Singh
Shekhawat
2007-09 Shilendra Kumar Ashok
Singh Gehlot
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93.

Sol.

94.

Sol.

95.

Sol.

96.

Sol.

97.

Sol.

TR 9™ 99T & AW R Rl

WHIATIh{Ueh ohU § Safked &i-

A. TR fawaE B. ¥R 3aqq

C. i@ Aer D. ¥R ae "
[1] A,C, B, D [2] B,A,C D

[3] A,B,C,D [4] C,A,D,B

[5] sTgaf@ g

[3]

*  gAmeR fowE-  1980-1985

* PN [AYU- A 1985 - #1985
*  gRYA 9iwel-  1990-1994

* W WA 1998 - 1999

Frifera ® @ fora 9@ =l o™ S5 A
@& fram, 1952 gwret gu?

[1] 16 =t 1952 [2] 1 3T9RsR 1952

[3] 15 =T 1952 [4] 31 fegwR 1952

[5] sTgafa g

[2]

frafafiga & @ 19 TR & wETMET ©
TH &7

A. TA.TA. R B. <.l smE™

C. TH.UH. Hedl D. S, =9

Sude | § WET fashew -

[1] A, B3R D [2] A, C3R D

[3] B,C ¥R D [4] A, B3R C

[5] sTgafa g

[4]

S, M [T AEEEER SR % ST B
TERIH W WU, SUEU fRd UeT S&wT
diua &7

[1] fSen vq@ [2] @T fawm i
[3] 9&m= [4] fSem Fetax
[5] ergafa we

[2]

fSen yqE- 99 e o

y4E - fSen vqE #

WO, ST - G g At i

T AFATRIHRT ENT & UIH 780 i &7

[1] T = [2] ©H. Wik =g
[3] HIdT HFR [4] stwa. St
[5] sTgaRa W

[3]
AT YSATR J 7™ 2000 ¥ 7RG 2000 7 SHRC
% JATY H ®I H w fRAM

Arrange the tenure of Speaker of Rajasthan
legislative assembly in Chronological order.
A. Poonamchand Vishnoi

B. Hiralal Devpura

C. Harishankar Bhabhada

D. Samarth Lal Meena

[1] A,C B, D [2] B,A,C D

[3] A,B,C,D [4] CA DB

[5] Question not attempted

. 3]

*  Poonam Chand Vishnoi - 1980-1985

*  Hiralal Devpura - Mar. 1985- Oct. 1985

*  Hari Shankar Bhabhada - 1990-1994

*  Samarth Lal Meena - 1998-1999

On which of the following dates did the
Rajasthan High Court Rules, 1952 come into
effect?

[1] 16 Jan. 1952 [2] 1 Oct. 1952

[3] 15 Aug. 1952 [4] 31 Dec. 1952

[5] Question not attempted

[2]

. Who among the following has been the

Advocate General of Rajasthan.

A. N.L. Joshi B. B.P. Agrawal
C. S.M. Mehta D. G.K. Vyas
Select the correct option-

[1] A,Band D [2] A,Cand D
[3] B, Cand D [4] A, Band C
[5] Question not attempted

- [4]

G.K. Vyas is the Chairperson of the State
Human Rights Commission.

To whom Sarpanch, Up Sarpanch submit
their resignation in Rajasthan?

[1] Zila Pramukh

[2] Block Development Officer

[3] Pradhan

[4] District Collector

[5] Question not attempted

- [2]

Zila Pramukh - Divisional Commissioner
Pardhan - Zila Pramukh
Sarpanch, Up Sarpanch - BDO

. Who is the first Chairman of State Human

Right Commission?

[1] N.K. Jain [2] S. Sageer Ahmed
[3] Kanta Bhatnagar [4] B.L. Joshi

[5] Question not attempted

- [3]

Kanta Bhatnagar served as Chairman of SHRC
from March 2000 to August 2000.
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98. Trefafiaa § & & 9T R TSy Ararr - 98.

Sol.

99.

Sol.

100.

Sol.

101.

I AN & AR | 7T 8-

A. TER R TsHifan sifismr

B. oTf¥d sy

C. TS Td dieahfae 3R

Sude ¥ | we fawen gfw-

[1] %ot AR B [2] %eal B3R C

[3] o1 ASIRC  [4] A, B3R C

[5}3&33%9@

[4

frafafaa & @ &M@ @1 738 Gaentien weires

arfufem o wfes aeam 872

A. frsg ot = fow e

B. wfeensti & T e ¥ aifysw smeror 3

C. M Y9 % gAE <o WUl @ STER W
FHA

e W ¥ wEl faswen gfta-

[1] A 3RB [2] B3RC

[3] A3RC [4] A, B3RC

[5] sTafa wT

[4]

I Wisw wauE-

* gy A YAy ®9 9 Faffaq wxde

*  UgEd i B THT HH b fow fga S

*  fopat SHEE W 9EEd 1 ST &M SET)

GO & AR rfafEm 2005 # e awT &

qEd T gorT St sifufem @ foramee

giHfyea & ¥q e wieeRor i e 2

Hehal &7

[1] =fuf=m =1 9@ 16

[2] stfafmm =6t & 17

[3] eifuf=m =t & 18

[4] sAfuf=m =t & 19

[5] sTafa 5T

[4]

T & AMHR Act 2005 Ft 91 19(8) & d&A

sTiie 1 ol & 9 59 gE e ety

frm =1 forareem gifttea &E 2q @ wifee

w1 Frder % Tk R

Frfafea ¥ ¥ ffa o= & d@a ToRg™

Tk BT STRINT 70T UfeiaresT Te9uTe shl Giar &7

[1] e9=% 323(1)  [2] 31=5% 323(2)

[3] aT9=8% 323(3)  [4] TI=% 323(4)

[5] ergafa o

8) & q&al
8) & d=dl
8) & q=al
8) & d=dl

A~ S S

Sol.

99.

Sol.

100.

Sol.

101.

Which among the following rights come

under the Jurisdiction of Rajasthan Human

Rights Commission-

A. Citizen and Political Right

B. Economic Right

C. Social and Cultural Right

Select the correct option-

[1] A and B only [2] B and C only

[3] A and C only [4] A,Band C

[5] Question not attempted

[4]

Which among the following are Voluntory

provisions in 73rd constitutional

Amendment Act.

A. Reservation for Backward class.

B. Reservation more than 1/3rd to women.

C. Conducting elections of village panchayat
on the basis of party system.

Select the correct option-

[1] Aand B [2] Band C

[3] Aand C [4] A, Band C

[5] Question not attempted

[4]

Other Voluntary Provisions-

*  Sarpanch elected directly or indirectly.

Authorizing panchayat to collect taxes.

On how much population panchayat

should be formed.

Under which section of the Right to

Information Act 2005, the State Information

Commission can give directions to the public

authority to ensure the implementation of the

Act?

[1] Under section 16(8) of the Act.

[2] Under section 17(8) of the Act.

[3] Under section 18(8) of the Act.

[4] Under section 19(8) of the Act.

[5] Question not attempted

[4]

Right to Information. Under Section 19(8) of

the Act 2005, while deciding the appeal, the

State Information Commission can direct the

public authority to ensure the implementation

of the Act.

Under which of the following articles does

the Rajasthan Public Service Commission

submit its report to the Governor?

[1] Article 323(1) [2] Article 323(2)

[3] Article 323(3) [4] Article 323(4)

[5] Question not attempted

*

*
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Sol.

102.

Sol.

103.

Sol.

104.

Sol.

[2]

SR 7T 323(2)
Hiar 2

TSR i HaT AN &t Afgem Gl i
Frafe o @& w9 -

A. TehTRTeR Tl

B. I @i

C. e fo'

D. TSHAN TSR

E.

[1

[3

[5

% qed gfaesd Tsaured <hi

FAeT i

] B,E,C,D, A 2]

] A,B,C,D,E [4]

] eTgaf@ T

[4]

* 1t R ERE (1989-1995)

* O HA A (1993-1999) (Y8 ToHA TSTEq™
TEHR)

* 3t geRRTert Il (1996-2002) (UPSC i 68
off)

* 4% fen T8 (2011-2012) (FHEF 6 BH 9
T SR

*  5th ISRAN TSR (2016-2022)

frafafaa & @ fea oo & aga Terem o

TRUTfeTeRTel & SATEl Rt W BT 872

[1] Tsram wRatferet (Fratem) f=m, 1994 =
GEG]

[2] TsRam RATfere (Frates) frem, 1995 &
GEG]

[3] Usam wRATfereRt (Frates) fem, 1999 =
GEG

[4] TSRoR A RWifersn (fratem) fem, 2003 =

GESl

[5] #1gaRa wed

[1]

o TRafees (fafeq) | 1994 & =4
TR & FAE P GEeH g R
fava ¥ wRa &1 < SAET ¥ REEr W 8?7
[1] Teem [2] S=T

[3] drem [4] =hen

[5] sTafa T

[1]

ad, gt (32 fafeem <) it b St 35.9
Taferam =7 S & |1y 3 = T Scaees 29 5

Sol.

102.

Sol.

103.

Sol.

104.

Sol.

[2]

The Commission submits the report to the
Governor under Article 323[2].

The correct order of appointment of women
members of Rajasthan Public Service
Commission is:-

A. Prakashwati Sharma

B. Kanta Khaturia

C. Divya Singh

D. Rajkumari Gurjar

E. Kamla Bhil

[1] B,E,C, D, A [2] E,B,A,C D
3] A,B,C,D,E [4] B,E A, C, D
[5] Question not attempted
[4]

1¢t Kanta Khaturia (1989-1995)

*  2nd Kamla Bhil (1993-1999) (Former
Minister of State, Government of
Rajasthan)

* 3 Prakashwati Sharma (1996-2002) (was
a member of UPSC)

* 4" Divya Singh (2011-2012) (resigned
before the end of her term)

* 5" Rajkumari Gurjar (2016-2022)

Under which of the following rules, the

elections to the municipalities in Rajasthan

are conducted?

[1] Under the Rajasthan Municipal (Election)
Rules 1994.

[2] Under the Rajasthan Municipal (Election)
Rules 1995.

[3] Under the Rajasthan Municipal (Election)
Rules 1999.

[4] Under the Rajasthan Municipal (Election)
Rules 2003.

[5] Question not attempted

[1]

Municipal elections are conducted under the

Rajasthan Municipal (Election) Rules, 1994.

What is India's position in sugar production

in the world?

[1] First [2] Second
[3] Third [4] Fourth
[5] Question not attempted

[1]

India became the top sugar producing country
with a production of 35.9 million tonnes,
surpassing Brazil (32 million tonnes).
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105. BTeT & § @al | @7 dhlecie uiferdar wRH feeg  105. Kohelet Policy Forum, which was in news

Sol.

106.

Sol.

107.

Sol.

108.

HRUT ¥ T W 9T?

[1] S T3 emfem § 89 gurl 2

[2] 5@ H =afae gurl 2q

[3] sSiter ® B G =g

[4] < # i gERT 3g

{5}&3@&39@

2

Figele Uil ®RY IOEA 1 TH IO vt
A B, S B € H soREe | SR =1 guRi
% w1 arfas GAER A ST Tl 2

TRt s gRer & wasd W Frafafaa wemr 106

w fa=m -

A. TT9 Teht H Wd FeE Wt ¢ S faedt w5
ot SR Seal | ghg i 2

B. 9eWR ®IeE INA HRU AESH e A o
fefts =rar 2

C. 39 i, Yoy | ar-=a feranr mam

Suded ¥ ¥ WE YT wA-

[1] ®oa B [2] B3k C
[3] A 3R C [4] W et
[5] eTgaf@ wd

[3]

o TEER HIeS IRA (I o)

o TUEHA T HR  THHRI YEIAT HI 2

o g i Aftd gfien @ & S 9E| 2

o 7% fiedl w1 ueE o SRl H SEE 2

o 7o AR TEEE HR-R Refis B9 % @R
T Sfaq el tfe e 2

‘U AIET-ART Q9T HIHH hT 9T T 7

[1] 391 ® fiedt =t TJoren o gUR

[2] FeTEt R R I9T F S

[3] B H W F TR H AERNA I

[4] Tdsa ARl @i SER g

[5] srgafa e

[4]

YT AT R T T SEYI-SRIgT el

TfEl 3R <9 &% forg ot Wi 1 sfere

oAl 1 HEH HE B

Tt & ¥ OBC HYS™ & Syu-aiitentor st fure

iU FTet STERT T Teaey ar/ot ?

[1] 9w st fevft 2] @&, fo'
[3] @it o [4] efee T
[5] eTgafa T

Sol.

Sol.

107.

Sol.

108.

recently, was in news for what reason?

[1] For military reforms in the United States

[2] For judicial reforms in Israel

[3] For agricultural reforms in Brazil

[4] For economic reforms in China

[5] Question not attempted

[2]

Kohelet Policy Forum is an Israeli right-wing

organization that is considered to be the real

driving force behind the recentjudicial reforms

in Israel.

Consider the following statements with

reference to Sulfur Coated Urea -

A. Layer of sulfur is applied in these which
increases the quality and fertility of the soil.

B. Due to sulfur coat on urea nitrogen is
released at a rapid rate.

C. It was launched in Sikar, Rajasthan.

Choose the correct statement from the above-

[1] B only [2] Band C

[3] Aand C [4] All of the above
[5] Question not attempted

[3]

Sulfur coated urea (urea gold)

* Prime Minister launched it from Sikar.

* It is cheaper and better than Neem coated
urea.

* It increases the quality and fertility of soil.

* Due to the slow release of nitrogen present
in it, its life span is longer.

What is the objective of “Meri Mati-Mera

Desh” program?

[1] Improving the quality of soil in the country

[2] Connecting NRIs with the country

[3] To give information about the country to
the students

[4] Honoring freedom fighters and martyrs

[5] Question not attempted

[4]

The objective of the program “Meri Mati-Mera

Desh” is to honor the brave freedom fighters

and those who sacrificed their lives for the

country.

Who was the chairman of the commission

which submitted the report on the sub-

classification of Vthb community recently?

[1] Justice G Rohini  [2] N.K. Singh

[3] Amit Verma [4] Arvind Singha

[5] Question not attempted
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Sol.

109.

Sol.

110.

Sol.

111.

Sol.

112.

Sol.

[1]

+ OBC & 3U-aifieiol 3q o+ Ufeoht smam 3
Ao R g & R

o 3HA 2600 ¥ e OBC Sfeal sl ST-ofiehtul
wifea SR S % SMUR W HE i
I T 2

A ARA VI ATl & qed ddiieen Lyl

w1 o9 foRE T W gIn?

[1] S| ¥ [2] TsRT

[3] HeTeZ [4] 9f¥=m <
[5] FTaRT we A

[1]
3T ARG VI ANl % T8q S| IR ° Fatysw
149 VYAl H FF9 g2l
gaF- 3 & Hed o FrAfataa § @ o wee
T T -
[1] 58 fohm (AU=R), WM (TJeR) wfdel € ud
TH FENIfR 99 (C25) %1 99T §37 2
[2] @& 23 7T, 2023 ! I 6:04 fode W ==
R W

[3] <farolt ya W W wfen e o fave w
& I 2

[4] 35 Yoot T e | 120 URGHAT &t TH w1
FT He H 21 URehH i

-

o IAM -3 Yeat i wam H 21 UfGhE H e
FEHT h1 He H 120 IREHT F

o IT 23 37T, 2023 1 WM 6:04 fFe W ==
R W

o T5AM-3F fowE (AveY), T (JR) wWiEe €
TS T HESR 5 (C25) 1 T g3 2

forer & 159 RTER THe o1 TS wal g

&2

[1] f&ror sTsRteRT [2] s”a
[3] == [4] sTSTte
[5] sgafa W

[1]

TFRI0T STRIhT & SergeT yed § 1547 foed Rer
T (22-24 3T ) 3TAIfSa g2

T &1 § W fai=e STEnT 3 2024 & AreRaT

TATE & AT dIeT JNTEehdT 3 A9 g
AT B2

[1] forre =reet [2] B T5at

[3] T sfae [4] ds1 eTEaTUR

[5] sTgafa wd

[2]

Sol.

109.

Sol.

110.

Sol.

111.

Sol.

112.

Sol.

[1]

* The Rohini Commission constituted for the
sub-classification of OBCs has submitted its
report.

* In this, sub-categorization of more than
2600 OBC scheduled castes has been
recommended on the basis of advantaged
and deprived.

Under the Amrit Bharat station scheme, the

maximum number of stations were selected

from which state?

[1] Uttar Pradesh [2] Gujrat

[3] Maharashtra [4] West Bengal

[5] Question not attempted

[1]

Maximum 149 stations were selected from

Uttar Pradesh under Amrit Bharat Station Scheme.

Choose the incorrect statement from the

following with reference to Chandrayaan - 3

[1] It consists of Vikram (Lander), Pragyan
(Rover) and cryogenic engine (C25) was
used in it

[2] It will land on the moon on 23 August, 2023
at 6:04 p.m.

[3] It is the first country in the world to make a
soft landing on the South Pole.

[4] It made 120 revolutions in the Earth's orbit
and 21 revolutions in the Moon's orbit.

[5] Question not attempted

[4]

* Chandrayaan - 3 made 21 revolutions in the
Earth's orbit and 120 revolutions in the
Moon's orbit.

* Chandrayaan - 3 it landed on the moon on
August 23, 2023 at 6:04 p.m.

* Chandrayaan - 3 includes Vikram (Lander),
Pragyan (Rover) and cryogenic engine
(C25) was used in it.

Where was the 15th summit of BRICS

organized?
[1] South Africa [2] India
[3] China [4] Brazil

[5] Question not attempted

1]

The 15" BRICS (22-24 August) summit was
held in the city of Johannesburg, South Africa.
Recently, the Election Commission of India
has recognised a national icon for voter
awareness for the 2024 Lok Sabha elections?
[1] Virat Kohli [2] Sachin Tendulkar
[3] Rahul Dravid [4] Pankaj Advani

[5] Question not attempted

[2]
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113.

Sol.

114.

Sol.

115.

Sol.

116.

Sol.

3teT 20 faver syt SifeafT 2023 w0 Raara 3
TR SHae ATell Ugell TR AiEe Ugerar i
??

[1] foren wferss [2] Sifoemr FHAR
[3] sifcw deme [4] &t wfeteh
[5] srgafa we

[3]

aifem Toel < SR 3(e-20 forva et SR
S areft TEelt AR Higen Ygere S+l €1 e
qRd H 4 @i, 3 WM, 7 I Afed |/A 14 "H
Einiy

s feran ® stanfaa wfgen weare favg wa o
W 3 Rl gue sia S5 @ 87

[1] gt [2] siefern

[3] TgF T SRR [4] STOH

[5] srgafa we

[1]

TH A e Rl TR Tl IR e gesid
fava =a <

e Tt e 2023 W v WA W R T o
ITET T Wl fasew =A-

[1] ToRE-3=R

[2] HEAYRYT-TXd

[3] HEATRY-3R

[4] TffETg-SmT

[5] sgafa e

[3]

e faet @i 083

Tt W ge 1w, afferg, Jeeer (Y 3)
&0 W IR, g, AN

TR & 59 TRIR-TSE & ® | {=ar U
T AT AT WA S T 87

[1] ToTesiR

[2] HieTqR-THelt

[3] BrerTE @R s

[4] Bftert 2R fiwd

[5] eTgafa wd

[2]

TeRg™ W 3 5 TR e g E-

1. W, 2. Wi, 3. gR=y feq, 4. ToQ
foawemd, 5. dieTgR-airet|

TE 2 H 54a TR e 2B

113.

Sol.

114.

Sol.

115.

Sol.

116.

Sol.

Who is the first Indian female wrestler to win
the Under-20 World Wrestling Championship
2023 title twice?

[1] Priya Malik [2] Dipika Kumari

[3] Antim Panghal  [4] Sakshi Malik

[5] Question not attempted

[3]

Antim Panghal became the first Indian female
wrestler to win the Under-20 World Wrestling
Championship twice. In this, India has won a
total of 14 medals including 4 gold, 3 silver, 7
bronze.

Women's Football World Cup held in
Australia - Spain won by defeating whom?
[1] England [2] Australia

[3] United States [4] Japan

[5] Question not attempted

[1]

Spain won the Women's Football World Cup
for the first time by defeating England.
Choose the correct option for the state and

city that stood at the top position in the Smart
City Award 2023-

[1] Gujarat-Indore

[2] Madhya Pradesh-Surat

[3] Madhya Pradesh-Indore

[4] Tamil Nadu-Agra

[5] Question not attempted

3]

Smart City Award 2023-

States - Madhya Pradesh, Tamil Nadu,
Rajasthan (top 3).

Cities - Indore, Surat, Agra.

Which is the tiger reserve recognized as the
5th tiger reserve of Rajasthan?

[1] Ranthambore

[2] Dholpur-Karauli

[3] Kumbhalgarh Tiger Reserve

[4] Sariska Tiger Reserve

[5] Question not attempted

[2]

Now there are 5 tiger reserves in Rajasthan
1. Ranthambhore, 2. Sariska, 3. Mukundra

Hills, 4. Ramgarh Vishdhari, 5. Dholpur-

Karauli

* This is the 54" tiger reserve of the country.
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117.

Sol.

118.

Sol.

119.

Sol.

120.

Sol.

TSTRAT 22T ST it TATUT Hgl bt T8 oi?
[1] Serqe [2] =

[3] SETX [4] STFX

[5] srgaf e

[3]

SR W TSN e S T T H S @ R,
S getie WAl w1 Ee SMIfd § HeEe B
T €A Seamless M4T feh&eh gRT ST T2

[1] e [2] @
[3] HTEHIEIR [4] X-ZHfi=x
[5] Taf g

[1]

T (BHYH) = 100 AT ® AR H WaH Al T

Seamless MA4T forerfid fman 21

T & U frm weA grt fava s wifersnt

THYET - 2023 WeRT¥Td i TS 872

[1] fava S

[2] sfsRere

[3] fava =MR HTeA

[4] S9a & A #E &

[5] sTafa s

[3]

o 34 fave =AMUR HMeA g WK fRAm T

o TOY aEgel iR aifoey danel H dfves SATUR
HeHt g1 y_E fwa

» 9Rd Hal fEfd ¥ 79 TE W, SEte ayg
T 189 TM W ol I wE-E

« 9RA 94 TeW ¥El 9% NS 9 2

T & W IIE U S UIed Rl T Sed 7

[1] =% THEROT I HI AR ST

[2] sema-fafa & ded F W effe S @t
SR T&H A

[3] S0 & FHEFA & TR H Sl agMl

[4] 3TaRITE (AT )STHIST i @IS &l & A

[5] sTafa 7

[4]

STW e, RBIGN I® fohal T S=iEeRd dea

B| THH SE¥A ONE SHIS i WIS Sl e

T R

TeTge TR & Heam ¥ el & d1d H S

e W ekl 2

117.

Sol.

118.

Sol.

119.

Sol.

120.

Sol.

Where was the Rajasthan Data Center
established?

[1] Jodhpur [2] Kota

[3] Jaipur [4] Udaipur
[5] Question not attempted

3]

Rajasthan Data Center is being established in
Jaipur, which will be helpful in uninterrupted
supply of internet services.

By whom was the AI tool Seamless M4T
created?

[1] Meta [2] Google

[3] Microsoft [4] X-Twitter

[5] Question not attempted

[1]

Meta (Facebook) has developed AI tool
Seamless M4T it is capable of translating 100
languages.

Which organization recently published world
trade statistics review 2023 ?

[1] World Bank

[2] UNCTAD

[3] World Trade Organization

[4] None of the above

[5] Question not attempted

[3]

— e e —

It was issued by the World Trade

Organization.

* It provided global trade data in goods and
commerce services.

* India ranked 7th in service exports, while
it was ranked 18th in merchandise exports.
Top position-China.

* India is the 9th largest commodity importer
country.

What is the purpose of the recently launched

Udgam portal?

[1] Market support of agro-processing industries

[2] Providing information about the place of
origin in the context of import-export

[3] To increase awareness about ISRO's
programme

[4] Its objective is to simplify the discovery of
unclaimed deposits

[5] Question not attempted

[4]

Udgam Portal it is a centralized portal

launched by RBI with the objective of

simplifying the search for unclaimed deposits.

Information regarding deposits can be

collected through the mobile number.
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121. ek AR UIHTET TS o A feha-it @g@ar  121. How much assistance is being given under

Tyt & =T @ R?
[1] %2000 [2] %5000
[3] %.10000 [4] ©.20000
[5] sTgaf@ e

Sol. [2]

o HHHA Al FHEARR WdEd areH, 2023 &
ST ik el TiedTed e faaia fee s

o THHI TN g9 2023-24 H HT TE off)

o TUH 3Iqd < HARRI hl SHHI Hell T
Hafya F9-3TR0T %F HE 8g 5000 T HI
THYTd TEEal SElel & HIEH | a1 S

122. T &1 § TR o9 9 Ut & Tk i) | Bt
wfEs diaedl U Ufase emar 87
[1]TﬁT>|T [2] ==
[3] stEm [4] Taferrm
[5] sTgaf S

Sol. [3]

A WHR 7 1 TR HY H TEH daell |

yiase e 2

123. frefaflas § @ wE-"/Q waA fawa o
T I & aR W et 39§87
A. I8 EErCfe ¥ Tafyd s H Sofadd &

HRO Bl 2l

B. 39 I 1 g <feror o wetg o
Haifuer <@ @i e 2l

[1] ®aa A [2] ®a@ B

[3] A &R BT [4] Td@ A& B’

[5] Tgafa o

Sol. [1]

1. fosa 9 T EErifed o gefag S o
SRS % HRT RBC &t 3mehfa gfgan ()
St B S 2

2. 39 UM 1 HalH GHE THIR 9 H e
I fierr 2

3. T8 W ¥ yuiqen yufad M W OERR &
HArerfis IReree &9l JHw B S ? SR

=i Y geg 81 Sl 2
124, frafafaa § ¥ srqafaa gm 278
faetfim I ™
A. foafi=-E - IR TSIIESEIE]
B. faafm-D - HicqH e
C. faafm-K - EEaR TS
[1] ®oa A @R C [2] o« B
[3] Faa C [4] STgx H ¥ HE &
[5] gafa o

the Folk Artist Promotion Card?

[1] Rs.2000 [2] Rs.5000

[3] Rs.10000 [4] Rs.20000

[5] Question not attempted

Sol. [2]
* Folk art promotion cards will be distributed
under Chief Minister Folk Artist Promotion
Scheme 2023.

* It will be announced in Budget 2023-24 was
done.

* Under this, a lump sum assistance of Rs
5000 will be given by DBT to folk artists for
purchasing instruments and equipment
related to their art.

122. Which state has recently banned water plastic

bottles smaller than one litre?

[1] Goa [2] Rajasthan

[3] Assam [4] Sikkim

[5] Question not attempted

[3]

Assam government has banned plastic bottles

of less than 1 litre.

Which of the following statement(s)gives

correct information about sickle cell anemia

disease ?

A. Itis caused by a mutation in the gene

related to hemoglobin.
B. Effect of this disease is most visible in the
continent of South America.

[1] A only [2] Bonly

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

Sol. [1]
1.

Sol.

123.

A mutation in the gene related to
haemoglobin causes Sickle Cell Anemia
due to which shape of the RBCs becomes
like sickle.

2. The maximum effect of this disease is seen
in African countries.

3. When completely affected by this disease,
the oxygen carrying capacity of the blood
weakens and the person dies.

Which among the following pair is/are

mismatched -
Vitamins

A. Vitamin-E -

B. Vitamin-D -

C. Vitamin-K -

[1] A and C only [2] B only

[3] Only C [4] None of the above

[5] Question not attempted

124.

Other Names
Phylloquinone
Calciferol
Tocopherol
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Sol.

125.

Sol.

126.

Sol.

127.

Sol.

[1]

1. faerfi=-D - Hfcanid
2. foerf-E - JEmdd
3. foafm-K - fpefeam

frafafga & & #A-H AR SER g9 W
N 7

A. T©R B. WHR

C. STel-GHRTRT D. wg ™
HE -

[1] %o A 3R B [2] ®ea B3R C
[3] ®act A, B3R C  [4] Swdw @ft
[5] Tgafa o

[4]

1. STeR 99E Yol 3R waf <Al W on] g 2l

2. T©R, 9FR, - IR AR Tl T
TR fagid & SHFEn W i B

w0 ¥ faga uftue ¥ gfetta 1 Haem THATER

wa o fehan wmar § =i -

A. =9 Y ®1 9= HH e S

B. fFHt T 390 & @U@ T § T ITHW
T g9 TE ggar 2

e feu T He Wt wEEar ¥ "€ 39 g -
[1] ®5a A [2] ®=a B

[3] A @R BT [4] T A, 7T & B
[5] srgafa

[3]

W uiug ® gfaiia SAeH il GaEia 6wE W
W

1. YR w1 O STE-3Ter Bl B

2. dees HHH @ g

3. e ialY 1 W= HH e S g

4. TH 36T % F/E0E T § T ITHN T

JqE TR gl
Freafafga § ¥ S ugred seeluras 272
A. TF T B. emfeq
C. &x D. ude=
[11A,B,C [2] ®a@ Aden C
[31A,C D [4] Sw=a w+dt
[5] A 7

[4]

S frdt urel 1 29 atereen § T R S € A
98 T SRl WU TR il Sieh EY T
FIEN § a%e Wl € IR g1 A W A W
sraee 4 Y 39 sreen § weel Sl 7, 39 yima
H & ST wEd F| YRR qE, AESH, FE,
Feoela o Seauas T B R

Sol. [1]

125.

Sol. [4]

126.

Sol.

1. Vitamin-D - Calciferol

2. Vitamin-E - Tocopherol

3. Vitamin-K - Phylloquinone

Which of the following applications is based

on Doppler effect?

A. Radar B. Sonar

C. Ultra-sonography D. Speed Gun

Code:-

[1] A and B only [2] Band C only

[3] A,Band Conly [4] All of the above

[5] Question not attempted

1. The Doppler effect applies to both light and

sound.

2. Radar, sonar, ultra-sonography and speed
guns are all based on the application of the
Doppler principle.

In the Domestic electric circuit parallel

combination of resistance is made because:-

A. Equivalent resistance decreases.

B. Failure of one equipment does not ruins

the other equipment.

Select the correct answer using the code

given below :-

[1] A only [2] Bonly

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

[3]

When parallel combination of the resistance

in the domestic circuit is made -

1. The value of current varies.

2. Voltage remains the same.

3. The value of equivalent resistance

decreases.

4. Failure of one equipment does not affect

other equipments.

127. Which of the following substances are

Sol.

Sublimates?

A. Dry Ice B. Iodine

C. Camphor D. Naphthalene
[11 A, B, C [2] Only A and C
[3] A, C, D [4] All of the above

[5] Question not attempted

[4]

When heat is provided to a substance of solid
state then it does not changes to liquid state,
but directly into the gaseous state and on
cooling it again it changes directly from the
gaseous state to the solid state, this process is
called sublimation. Sublimates substances are
dry ice, iodine, camphor, naphthalene etc.
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128.

Sol.

129.

Sol.

130.

Sol.

Freafafaa wa W faum wifva-

A. Toega 9o § s T et @ S e T R

B. fogd e & +fiaR o1 o1 T fafemtor
fafy g < R

C. fogm sca 5@ & w9 W enuiia foe@

ITHI 2
Suded o ¥ WE U &8
[1] st B3R C [2] A B3R C
[3] o A [4] =ae A 3R C
[5] sgaRa WA

[4]

1. ®eF AW R

2. fogd sca # framde ¥ o1 1 TR
Haga fafy (o & fazearmm g/ o
TIMIA) R B 2

3. forgd oea o1 % o Fem W e W 2
H/E = PRt

A fagm & day o Fafafaa o 9 s

wYT -

[1] =& orgs o rfafidd o et U 1

[2] @ Afeen 3R qE9 A I g w2

3] s@d 219 o S ¥ TEEd w1 fefa
IO 8 S R

[4] 3o tifga safe o foin et aftedq feamg
@ &

[5] sTgafa W

[4]

< figm 219 R SIS H grRErH £ TR

=47 (46 + 1) 9 W T 21 Afiew favrmand 234

S RE ¥ 9T F €, o7: e fagm ¥ ufad

e H oifien aRed Jed ® T fren #)

RIS | A9 T -

[1] 98 & STl Hehera—= Weifaal o1 e & S
2l

[2] S=0 9EEE SART &

[3] & & Wl & fu=1 wiRfeafaant o5 foed el

[4] T el e iR @

[5] sr3afa s

[3]

TR ] gRfEafaet o & faem &1 9 e g

B 39 & § S fafauar e 4en § o S 2

T Y@ I~ HAd o, Jereelt g, TRg

anfy 21

128.

Sol.

129.

Sol.

130.

Sol.

Consider the following statements-

A. Electric bulb contains argon gas which is
an inert gas.

B. Transfer of heat inside an electric bulb is
by radiation method.

C. Electric bulb is an electrical device based
on Joule law of heating.

The correct statement(s) from the above is/
are-

[1] B and C only [2] A,Band C
[3] A only [4] A and C only
[5] Question not attempted

[4]

1. Statement A is correct.

2. Transfer of heat from filament in electric
bulb is by convection method (transfer of
heat by displacement of particles).

3. Electric bulb works on Joule law of heating.
H/E = I°Rt

Which of the following is a incorrect

statement regarding Down syndrome?

[1] It is a genetic disease with chromosomal
abnormality.

[2] Tt affects both men and women.

[3] In this condition of trisomy occurs in the
21st chromosome pair.

[4] The person suffering from this shows
sexual changes.

[5] Question not attempted
[4]

Down syndrome occurs when there is trisomy

of the 21st chromosome pair and total

chromosomes = 47 (46 + 1). Sexual

characteristics are derived from the 23rd pair

of chromosomes, so sexual changes are not

seen in a person with Down syndrome.

Ecotone means -

[1] Area where near threatened species are
protected.

[2] High biomass production area

[3] The area where two different ecosystems
intregate.

[4] Dense water fed ecosystem

[5] Question not attempted

[3]

Ecotone is the boundary area of meeting of

two ecological systems. Biodiversity is found

in abundance in this area. Its main examples

are mangrove forests, marshy lands, estuar-

ies etc.
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131. 3T 3w 4@ (IoT) ¥ Hag heAl WX faamr 131, Consider the statements about Internet of

Sol.

132.

Sol.

133.

Sol

i

A. I8 U sHifgen 2, e e 9 geErfed
SRR ST/fead S § g S R

B. @€ $iM IfgHdl & SN 1 Ieh I 2

Suded ¥ ¥ T heH € -

[1] e A [2] $a B

[3] AG B3 [4] 1 AT & B
[5] eTgaf@ ww

[3]

IoT U MYfeh qoheiteh ©, TS miezm o e
e I F ot 9 ATl soeeit e
3R & ST 9 e R S g 2l

IoT ¥ &M gfgwa, #wefia afin, FRe wHfen
e wamT ferean <1 @1 21 W oW, Hes feasd
aTfE sg Mg S R

AR T | |fmfera 5000 Hew &t g
W ISH G § o S § 998 Ugelr @it

e, TCAHET B-

[1] 7= [2] ®=
(3] g= [4] F=e
[5] sTgaf e

[4]

3 TR 2022 Fl YH€ 1 TRATT SRS H HiHfad
e T 2?1 FE U eoehl Wi RellhiX ®, S
fegwm TRHfean fafiee g faswfaa feran e
2

fortfetad T w gt FiT
Voice Assitant Company
A. g1l i wHET

B. TetE ii. T

C. =i iii. e
D. foersit iv. HEhIETTE
%

A B C D A B C D
[1]i i iii iv [2]i i i iv
[3]ii iv iii i [4]i i iv i
[5] sTgafa wd
[4]

Virtual Assistance (STHTE HeEH)Tdh WHEaR
TSie ® S RN A YT b SUR R fRel =t &%
fore e =1 Yard #R T 2

TEW- W (THA), TowE (SFHSE), Hie

Sol.

132.

Sol.

133.

Sol

Things(IoT)-
A. It is an ecosystem, in which Internet-

operated electronic equipment / devices
are used.

B. This is an excellent example of the
application of artificial intelligence.

Correct statement is -

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B
[5] Question not attempted

[3]

IoT is a modern technology, through which
electronic items used in daily life can be oper-
ated using the Internet.” Artificial intelligence,
machine learning, cloud computing, etc. are
being used in IoT. Modern examples are smart
home, connected devices etc.

The first indigenous combat helicopter
commissioned into the Indian Air Force is
which can take off at an altitude of 5000m is-

[1] Tejas [2] Rudra

[3] Dhruva [4] Prachanda
[5] Question not attempted

[4]

Prachanda has been inducted into the Indian
Air Force on 3 October 2022. It is a light com-
bat helicopter, developed by Hindustan Aero-
nautics Limited.

Match the following-

Voice Assitant Company
A. Siri i. Samsung
B. Alexa ii. Apple
C. Cortana iii. Amazon
D. Bixby iv. Microsoft
Code
A B C D A B C D
[1]i i iii iv [2]ii i i div
[B]ii iv iii i [4] i1 Qi iv i

[5] Question not attempted

[4]

Virtual Assistance is a software agent that can
perform tasks or services for a person based
on commands or questions.

Example- Siri (Apple), Alexa (Amazon),
Cortana (Microsoft), Bixby (Samsung) etc.
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134. 5G oISt & HWed W fFmAfafaa wedl w
forem FfAT
A. 5G eae fieliHier 39 Teed § &M & 2
B. 9Rd H 5G Tamew &t &AM Airtel § Hi offl
C. 7€ IEEE W 802.11 ac W €A 2|

Suded ¥ W W weA ®-
[1] o A [2] #aa B
[3] #aet A 3R C [4] Swe et
[5] eTgafa T
Sol [4]
135. frefafaa § @ AT WA 1 98t 3D Printed
Tehe go &7
[1] KALAM [2] AGNILET
[3] TERRAN-1 [4] =9 ¥ #E &
[5] eTgaf@ wd
Sol [2]

« AGNIKUL Cosmos ®@q &rl 2 e
TE YT HEMN 2

« AGNIBAAN 9eq STl & forg germqor o 21

e TERRAN-1 fava @1 wgell 3D Printed Tehe

SRR
136. Trfataa afeat & 9d @ ufyem w0 A safem
HifT-
A. 9 B. Affst
C. o
[1] B-A-C 2] A-C-B
[3] A-B-C [4] C-B-A
[5] ergaf@ w
Sol. [4]

afe, A, ol e At € S Wi % HeE
Y IW A AN 98d GU AHeH TR § T el 2|

137. Trfafaa gt w gafea sife-
aireiifites wawT EL
A, &feT wm 1. 7 &
B. ufv=d fyeeive Wy 2. Trive
C. s 3. MM
D. facifeen 4. w9
A B C D A B C D
1] i i iv il [2] iv i i i
3] i iii i iv [4] i i iv i
[5] eTgaia W=
Sol. [4]
1. fga/wie/aia fem ofefies y2w: SuH
B IE LI E IR
2. ufvad faeele W9 - 9% - oie-gem (Iftfm),
HemETEa (FEe)

3. AdisHES (TF) - wle-3e[ SEn
4. Toafn - deive & =% TORES- 9K SE T
TG

134. With reference to 5G technology, consider the
following statements-
A. 5G network works in millimeter wave
spectrum.
B. 5G services was started in India by Airtel.
C. Itis based on IEEE standard 802.11ac.
The correct statement is-

[1] A only [2] B only
[3] A and C only [4] All of the above
[5] Question not attempted

Sol [4]

135. Which of the following is India's first 3D
printed rocket engine?
[1] KALAM [2] AGNILET
[3] TERRAN-1 [4] None of these
[5] Question not attempted
Sol [2]
* AGNIKUL Cosmos is a startup company
which has got this patent.
* AGNIBAN is a launch vehicle for micro sat-
ellites.
e TERRAN-1 is World's first 3D printed
rocket engine.
136. Arrange the following rivers from east to west.

A. Ob B. Yenisei
C. Lena
[1] B-A-C 2] A-C-B
3] A-B-C [4] C-B-A
[5] Question not attempted

Sol. [4]

The Ob, Yenisei, Lena are Siberian rivers that flow
north from the plains of Siberia and fall in the
Arctic Ocean.

137. Match the following-
Industrial region Country
A. Keihin region i UK
B. West Midlands region ii. Poland
C. Novokuznetsk iii. Japan
D. Silesia iv. Russia
A B C D A B C D
1] i i iv il [2] iv i i i
3] i i i iv [4] i i iv i
[5] Question not attempted
Sol. [4]
1. Keihin/Kanto/Quanto Plains Industrial

Region-Japan-Automobile

2. West Midlands Region - U.K- Iron-Steel
(Birmingham), Automobile (Corvette)

3. Novokuznetsk (Russia) - Iron-steel industry

4. Silesia (Poland and Czech Republic) -
Heavy Industry and textile.

Page 43 of 49



138.

Sol.

139.

Sol.

140.

Sol.

Profefia o ¥ S 2ol s s W 138. Which of the following lakes are located in

. the African rift valley?
srafoa &2
. & A. Lake Tanganyika B. Lake Malawi
gany
A. iR g B. Hemdl #e e
C. Lake Victoria D. Lake Albert
< aaé'aﬁi e D3 aaéaia [1] A, Band D [2] A BandC
[1] A, BsR D [2] A/ B3R C [3] AandB [4] AandD
[3] AR B [4] AR D [5] Question not attempted
[5] sT{aRa e Sol. [1]
[1] Lake Tanganyika and Albert: In the Western
' o i o A II;iIftlvau;iI Lake: In th ft vall
e /= . : : alawi/Nyasa Lake: In the eastern rift valley.
A et ﬁﬁﬁ’)’jﬁ?ﬁ il R NN, Lake Victoria: Situated between the western
e kSl and eastern rift valley.
feerl 139. Match the following-
e ik [_‘E'ST Mountain peak Country/location
A Pt . i A. Chimborazo 1. Tanzania
' . B. Mt. Cook 2. Ecuador
B. R FH ii. sHEMER
C. frfedsm i, sfer C. Kilimanjaro 3. Australia
D. WS HIEgEs iv. :Fﬁﬁ—g D. Mt.Kosciuszko 4. New Zealand
A B C D A B C D A B C D A B C D
[1] i @ iv i [2] i v i iii [1] i i iv 1 [2] i iv i iii
3] iv i i i [4] i i i v Bl iv i il i [4] 1 i i dv
[5] i@ wed [5] Question not attempted
[2] Sol. [2]
o= : soaeR (UEw 9o o feem) Chim‘;)orazoz Ecuador (located in the Andes
Al e : Feilelve H Fared =@ range
TR AT (ST WeTE &1 Hated Rren) Mt. Cook: New Zealand's highest peak
. FEfER R o wEt R Kilimanjaro: Tanzania (the highest peak of the
) . NN ) . . African continent
& Haler o I W Mt. Kosciuszko: A)ustralia‘s highest peak.
faem wifse- 140. Consider the following statements regarding
A. 1896 5. H {1 H oRid HHIS <l T i Swami Vivekananda-
o) A. In 1896, Vedanta Samaj was established in
e . USA.
B. st &% wrHe T | T fereemR W . . .
B. Ganga Singh, the ruler of Bikaner had given
fordta wera =i« financial assistance to Swami Vivekananda.
C. @ Hffqsn = FALfF C. He was a supporter of idol worship.
D. 49 i 3 fodee w1 sha) forat off D. Romain Rolland wrote the biography of
i , . Vivekananda.
¥ ¥ w AR Which of the above is not a correct statement-
[1] %aet D [2] %@ C [1] D only [2] C only
[3] @ A [4] %o B [3] A only [4] B only
[5] eraia w9 [5] Question not attempted
Sol. [4]
[4]

. TR e 3w e * Maharaja Ajit Singh of Khetri had

provided financial assistance to Swami

ferditer s =1 <t Vivekananda.
o TR WHE T 3 SRy fog favafommea * Bikaner ruler Gangasingh provided
! o9 TerEal USH o 9o 5= Shueg financial assistance to the Banaras Hindu

University and was also made the Vice-
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141.

Sol.

142.

Sol.

143.

Sol.

VI (92T ) wuSt wefua ot -

[1] ©ER we== [2] feeett wea=

[3] MR YehU  [4] HER TSI

[5] sgafa e

[3]

| =01 o iR STRICH % SR HTANTEHRE

0T, 1914 1 w2 wfeq g, oy sere o amn

HH o A H AfER ® Hoy | soeq 6,

Hiearel 3R WH g8F A IR H8S 1 T R

ol

HferTa AAng & oy o Feafafaa smae w

fa=mr whifso-

A. T8 99 1940 F 9RH gal

B. 9% UUH WAWR! faden 9 &

C. I8 TAWE 2 I ‘oot =et smieq’ &
w9 H Al gal

U ¥ T HOH 2-

[1] %aa A9 B [2] A, B3 C

[3] %a@ Ba C [4] =79 @ =g =&l

[5] sgafa e

[2]

o 17 SR, 1940%. H HIH 7 AR § AfRTTd
HAWE F Y& F offl T8el TAWRT foran
o 9|

o T TR ufed St Tew o, S
g 9% AR fReett Jel ofde’ & ®9 H
T 8 T el

frafafaa U= &l 3T BT & HICTHATTHAR

Fafed T aTel fashed T o9 Hifau-

[1] FERTE- TS - R0 3R

[2] SUHRT-HERIZ-ERAON-ATeAvS

[3] ST HERZ-ANRIvE B R
]

]

[4] ERETT-ATTS - HE R - STwR el
[5] sgafa g

[3]

T TYTOAT

1. STYuR - 1953 %.
2. - 1960°%.

3. - 1963 %.

4. - 1966°%.

141.

Sol.

142.

Sol.

143.

Sol.

Shore Committee was related to -

[1] Lahore Conspiracy

[2] Delhi Conspiracy

[3] Kamagatamaru incident

[4] Kanpur Conspiracy

[5] Question not attempted

[3]

During the first phase of the revolutionary

movement, the incident of Kamagatamaru

incident, 1914 took place, in which Balwant

Singh, Sohanlal and Rahim Hussain formed

the Shore Committee regarding the rights of

the passengers traveling in the ship.

Consider the following statements regarding

Individual Satyagraha-

A. It started in the year 1940.

B. Its first Satyagrahi was Vinoba Bhave.

C. Later this Satyagraha became popular as
‘Delhi Chalo Andolan’.

Which of the above is a correct statement?

[1] A and B only [2] A, Band C

[3] B and C only [4] None of these

[5] Question not attempted

[2]

* On October 17, 1940, the Congress started

individual Satyagraha from Maharashtra.

Vinoba Bhave was the first Satyagrahi.

e The second Satyagrahi was Pandit
Jawaharlal Nehru, during nehru's time this
Satyagraha became popular as “Delhi Chalo
Movement'.

Select the option that arranges the following

states in chronological order of their

formation-

[1] Maharashtra-Nagaland-Haryana-Andhra
Pradesh

[2] Andhra Pradesh-Maharashtra-Haryana-
Nagaland

[3] Andhra Pradesh-Maharashtra-Nagaland-
Haryana

[4] Haryana-Nagaland-Maharashtra-Andhra
Pradesh

[5] Question not attempted

[3]
State Establishment year
1. Andhra Pradesh -1953 AD.
2. Maharashtra - 1960 AD.
3. Nagaland - 1963 AD.
4. Haryana - 1966 AD.
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144.

Sol.
145.

Sol.

146.

Sol.

= I U=k 9gH’ & Hae § fAfeatad

HY W o= Fifee-

A. THE T & STHE e 9§ T @9
H THHR T B 2

B. TFhRIe™ & I§ (949%.) H 38 Tgehe TR F0
g 3 wafea fwa em

Sude § W A HA B-

[1] %aa AT B [2] Fed A

[3] %o B [4] == ® § ®E T
[5] ergafed W

[4]
Frafafaa o & srgufaa gm 2-

Teit-1 ge-11

A. 3HE - YT o1 S{e i TWE Fafed
B

B. f=fu - I I ST § FE S

C. g - I 1 S T W B A
TR & S

[1]®aa Ad C [2] ®aa B

[3] Foa A [4] =7 | +5E T

[5] ergafa s

[4]

S o H Wg %o (URied) i ‘YT’ el W R
AT SATHT 1 ‘S’ W T | SIR < TRttt
(3T, HeR AR o) e o qgumet & wem wee
I Jouad: et 2l

WY 319Nk o A TR & 20 o9 o
frafafea o 9 fea e =t 9o 98 5 oft-

[1] i [2] Stermn
[3] AT [4] et
[5] sTgaRa e

[2]

o U 3PEE A ST IEH & 209 I H e,
ARAY, A h AR HI o qwr qfie o
J-ToR"a R Al 1/6 A e 1/8 = f&ar o,
oot SRR  SfreE @9 afieE 9 fierd 21

o 3 H Y4 IMEA & 109 o8 H e i
RIEIRC NIl

144. Consider the following statements regarding

the Chola ruler “Parantaka I’-

A. At this time information about local self-
government is obtained from Uttarmerur
records.

B. In the battle of Takkolam (949 AD), he was
defeated by the Rashtrakuta king Krishna
I

The incorrect statement from the above is-
[1] A and B only [2] A only

[3] B only [4] None of the above
[5] Question not attempted

- [4]

. The mismatched pair among the following is-

List-I List-II
A. Asrava - The flow of Pudgal towards
the living being
B. Nirjara - Removal of Pudgal from the
soul
3. Sanvar - Stopping of the flow of
pudgal towards the living
being
A and C only [2] B only

[1]
[3] A only [4] None of these
[5] Question not attempted

- [4]

In Jainism, matter is called ‘Pudgal” and the
soul is considered as ‘Jiva’. The above
mentioned three conditions (Aasrava, Samvara
and Nirjara) directly indicate the relationship
between Jiva and Pudgal.

. Emperor Ashoka did not visit which of the

following places in the 20th year of his reign-
[1] Lumbini [2] Bodh Gaya

[3] Sarnath [4] Shravasti

[5] Question not attempted

Sol. 2]

e Emperor Ashoka had visited Lumbini,
Sarnath, Shravasti in the 20th year of his
rule and had changed the land revenue rate
in Lumbini from 1/6 to 1/8, information
about which is available from ‘Rummindei
Pillar Inscription’.

* Ashoka visited Bodh Gaya in the 10th year
of his reign.
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147. Toearet e ‘e’ | defia feafafaa sl 147. Examine the following statements related to

Sol.

148.

Sol.

T THLIUT A g 3 faheq it Bifew-

[1] fdy Fs=zra o1 THOA TR, &l R @S
& 9ed W Gard d

[2] 78T ¥ =@t & I U W gY 2l

[3] &l W foeet 1 6% #d gL w9 & e
it 21

[4] Stael ® Weeh SFM W1 HREMT STATed ol

[5] srgaf e

[3]

IA | YT A9 ;-

o TtETE!

o TRE H &R

o TETH AME! I FHEM H o

o @A & e

WIS T gUfd

o TIH IH H HREM

o gefiia fffa dumn

o TN giHq TEnE™

o @l % Hied

o W F AN HF FeF R Ford o

- focett &1 W1 W T HA ® WRiEe THIS!
T 9 g 2

TR Tl ¥ Heitua Fefataa 9 9 e g

wet gafea -

A. Gal & HE& - 63

B. #fgen |d - e

C. oSHl Hl Fherd - TR,

D. Sf&dl &1 Gehed - T JaUH

[1] ®oct TH [2] et ]

[3] et i [4] Swg =i

[5] srgaf we

[2]

TR -

i & ogErh, 9@ -63

TI@ Gd - A areeR, e, g, e

TfEgel Ha - Hidhel AR

wfea &1 Gehed - faeasd

oMl T Gehe — R

VST ;- AfgeN SR |d, TE0 IR &1 AREs|

SMEER Gdl &1 Ffadl 1 Wb - oo Gagq

the Indus Valley site ‘Lothal” and select the

false option-

[1] The only city of the Indus Civilization,
where the doors of the houses opened on
the main road.

[2] Two parts of the mill have been received
from here.

[3] Footprints of a dog chasing a cat have been
found here.

[4] A bead making factory was located at
Lothal.

[5] Question not attempted

. 3]

Relics found from Lothal: -

¢ Godiwada

* Seal of persia

e Illustration of the story of the clever fox

e Evidence of Rice

¢ Horse terracotta

* Bead factory

e Scale made of ivory

e Three paired burials

e Boat models

e The doors of the houses opened onto the
main road.

The footprints of the dog chasing the cat
have been obtained from Chanhudaro.

. How many of the following pairs related to

Nayanar Saints are correctly matched?

A. Number of saints - 63

B. Female saint - Andal

C. Compilation of hymns - Tevaram

D. Compilation of praises - Nalayara
Prabandham

[1] Only one [2] Only Two

[3] Only Three [4] All the above

[5] Question not attempted

.21

Nayanar -

Shiva’s followers, number-63

Prominent Saints - Manik Vachhagar,
Tirugyan, Sundarmurti, Sambadar.

Female saint - Karaikkal Ammayar
Compilation of Praises - Tirumurai
Compilation of hymns - Tevaram

Andal:- Female Alvar saint, Meerabai of South
India.

Nalayara Prabandham - Compilation of
Praises of Alvar Saints
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149. TR ITTHeh Searayr | Wefera ffafaa 149. Consider the following statements related to

Sol.

150.

Sol.

Hy W o= Fifee-
A. YR &1 UEE IEH, A gead & IAmy
HROT S 2|

B. 9% WHY 9N @M ool Todad &l @S W
e

C. G § 9a9ey 3ol 9o 364 Sl ol

D. mferr faH & w9g = & W & faes
EIeiRl

Sude W ¥ oA HAT -

[1] ®=& D [2] o A
[3] ®a@ C [4] %o B
[5] sTafa 7

[3]

qRG § WAYLH SoR Yl WEwR UK 4 =t oft
oMl SEqArael 3 36 HEN €9 YSH fohan o
TR AfTEE % SNE Soqdfdel q Soied
TR ol

A Yl | et weAl wT faem -
A. T8 T fafym St 21

B. s@d fmfor AR Sreft o foen S 21

C. 309 A gfers delt | foman s 21

Iude W W AT HAT -

[1] o A [2] ®ae B

[3] ®aa C [4] 3w | ° =+ 7
[5] A 7T

[4]

Sol.

150.

Sol.

Sultanate ruler Iltutmish-

A. The first ruler of India, who assumed the
title of Sultan.

B. During his reign Genghis Khan came to the
border of Delhi Sultanate.

C. He was the pioneer to start Iqta system in
India.

D. During the Gwalior Campaign, coins were
minted in the name of Razia.

The incorrect statement from the above is-

[1] D only [2] A only
[3] C only [4] B only
[5] Question not attempted

3]

Igta system was first introduced in India by
Muhammad Ghori and Iltutmish gave it an
institutional form.

[Itutmish bought Balban during the Gwalior
campaign itself.

Consider the statements related to Besar
style-

A. It is a mixed style.

B. In this, construction is done in Nagara style.

C. The ornamentation in this is done in
Dravidian style.

Which of the above is a incorrect statement?
[1] Only A [2] Only B

[3] Only C [4] None of the above
[5] Question not attempted

[4]
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ANSWER KEY

RAS PRE.TEST SERIES

Complete Paper-I1I [Code-905] 17 Sep. 2023
1 [ 2 [ 3[4a]5[e6 7 [ 819 [1w|[unl[1n2]13[14]a1s
2 4 3 4 4 3 1 3 1 3 1 2 3 2 4

16 17 18 19 20 21 2% 23 24 25 26 27 28 29 30

4 1 4 4 1 1 2 4 4 3 2 4 1 1 3

31 32 33 34 35 36 37 38 39 40 41 42 43 44 45

2 3 3 4 1 4 3 3 2 2 1 3 2 3 4

46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

3 2 2 3 4 4 1 1 2 1 4 3 3 3 3
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
4 1 3 4 3 4 2 1 1 3 1 1 1 2 4

76 77 78 79 80 81 82 83 84 85 86 87 88 89 90

2 1 3 1 4 3 3 3 3 4 2 4 4 1 2

91 92 93 94 95 96 97 98 99 | 100 | 101 | 102 | 103 | 104 | 105

4 1 3 2 4 2 3 4 4 4 2 4 1 1 2

106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135

2 3 1 1 4 3 4 4 4 3 3 4 4 4 2
136 | 137 | 138 | 139 | 140 | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150
4 4 1 2 4 3 2 3 4 4 2 3 2 3 4
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